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Question Number : 1 Question Id : 64635012071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is an example of higher order of cognitive learning outcome?
(1) Learning of facts and their sequences
(2) Learning roles and action sequences
(3) Learning of concepte and abstractions

(4) Learning of awareness and valuing

Options:
64535047499, 1



E4E35047500. 2
64535047501, 3
64535047502, 4

Question Number : 1 Question Id : 64635012071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535047499 1

64535047500, 2

64535047501, 3

64535047502, 4

Question Number : 2 Question Id : 64635012072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following i=s the kev behaviour contributing to effective teaching?
(1) Summarising what was teld by a student

{2) Encouraging students to elaborate on an answer

(3) Using direct and indirect questioning
{4} Explaining concepts in a la gic al step b:.' step presentation
Options:

64535047503, 1
64535047504, 2
64535047505, 3
E4E35047506. 4

Question Number : 2 Question Id : 64635012072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047503, 1
4835047504, 2
4535047505 2
64535047506, 4

Question Number : 3 Question Id : 64635012073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Instructions which encourage live participation and interaction through online classes are

called

(1) Synchronous instructions (2} Asvnchronous instructions

{3) Traditional instructions (4) Theoretical instructions
Options:

E4E35047507. 1
64535047508, 2
64535047509, 3
64535047510, 4

Question Number : 3 Question Id : 64635012073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047507, 1
E4E35047508. 2
E4E35047508. 3
64535047510, 4

Question Number : 4 Question Id : 64635012074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the elements of evaluation plan?

ia) Purpose
{h) Resources
ie) Analysiz

(d) Aunthority

Select the correct answer from the options given below:

(1) (a) and (c) (2) (b)only
(3) {b), {e) and (d) 4) (a), (b) and ()
Options:

64535047511, 1
E4E35047512. 2
E4E35047513. 3
64535047514, 4

Question Number : 4 Question Id : 64635012074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535047511, 1
64535047512 2
64535047513, 3
E4E35047514. 4

Question Number : 5 Question Id : 64635012075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which tvpe of evaluation focusses on the identification of deficiencies and difficulties of the
learner?

(1) Summative evaluation
(2) Follow up evaluation
(3) Diagnostic evaluation
(4)  Criterion — referenced evaluation
Options:
64535047515 1
64535047516, 2
64535047517, 5
64535047518, 4

Question Number : 5 Question Id : 64635012075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350475151

64535047516, 2

64535047517, 2

G4AE35047515. 4

Question Number : 6 Question Id : 64635012076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Position papers are

{1) Compiling of academic articles

{2y Providing review articles

{3} Offering a synopsis of an extended research
4 Highlighting of izsues and depiction of status

Options:

64535047519, 1
64535047520, 2
64535047521, 5
64535047522 4

Question Number : 6 Question Id : 64635012076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635047519, 1
E4E35047520. 2
64535047521, 5
64535047522 4

Question Number : 7 Question Id : 64635012077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Casze studies are

(1) Studies conducted in areas of genetics and microbiology

{2) In-depth examination of a subject and its related conditions
(3)  Areport onthe exizsting socio-political condition

4) Specialized research in the areas of health and sanitation

Options:

64635047523, 1
64535047524 2
64535047525 2
4835047526 4

Question Number : 7 Question Id : 64635012077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535047523 1
64635047524 2



EAE35047525. 3
BAE35047526. 4

Question Number : 8 Question Id : 64635012078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A hypothesis iz

(1) A certain and established finding

(2) A part of the research question

{3} A strategv of evaluating data

(4) A tentative statement providing an explanation
Options:

64535047527, 1
64535047528, 2
E4E35047529. 3
E4E35047530. 4

Question Number : 8 Question Id : 64635012078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635047527, 1
64535047528, 2
64535047529 =
4835047520 4

Question Number : 9 Question Id : 64635012079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tertiary source of data is
(1) Films, hoardings and posters
(2 Government gazette, newspapers and magazines
(3)  Information derived from both primary and secondary sources
) Data collected from policy papers

Options:

46350475351, 1
64535047532 2
64535047533 =
64535047534 4

Question Number : 9 Question Id : 64635012079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646535047531, 1

64635047532 2

E4E35047533 2

64635047534, 4

Question Number : 10 Question Id : 64635012080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From the following list identify the qualitative research characteristics and select vour
answer from the codes given below:
(1} Creating purpose statements and research gquestions
(ii) Stating the purpose and rezearch questions in a broad way
iiii) Cellecting data based on words from a small number of individuals
(iv) Collecting numeric data and statistical analyeis

iv) Using text analvsis and interpreting larger meanings of the findings

Code:

(1) (ii), (iii) and (v) (2) (1), (ii) and (iii)

(3 (1), (ii) and (iv) (4) (i), (i11) and (v)
Options:

64535047535, 1
E4E35047536. 2
EdE35047537. 3
64535047538, 4

Question Number : 10 Question Id : 64635012080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535047535, 1
645350475356, 2
E4E35047537. 3
EAE35047538. 4



Sub-Section Number: 2
Sub-Section 1d: 646350571
Question Shuffling Allowed : Yes

Question Id : 64635012081 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension

ERead the following passage and answer gquestions

Ferhaps what bothered the media in 19705 was the shift in liberty being suggested. For
centuries, journalists had operated on the basis of negative liberty, or freedom from external
restraints. Suddenly, however, the thrust was positive freedom, a freedom for pursuit of
zome predetermined goals. This new social responsibility zeems grounded on a school of
thought that sees negative liberty as insufficient and ineffective, somewhat like telling
people they arve free to walk without first making sure they are not crippled. Who better than
government is able to provide humanity with appropriate means? Government, even a
democratic government, iz seen by social responsibility adherents az the only foree strong
encugh to guarantes effective operation of freedom. This doss not mollify observers who find
zocial responsibility to be only slightly disguised version of authoritarianism Media
philosopher John Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated is ludicrous.
Journalists, he savs, must retain their freedom to make their own news and editorial
judgements. Even well intentioned attempts by outside groups seeking media improvement
are zelf serving, and inevitably lezsen the autonomy of journalists, Merrill maintains.
This leads us to the issue of media autonomy.

Sub questions

Question Number : 11 Question Id : 64635012082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the basiz of the operation of journalists earlier?

(1) Freedom of limited choices (2) Social responsibility
(3) Free from outside pressure (4) Government eontrol
Options:

64535047539, 1
64535047540, 2
E4E35047541. 3
EAE35047542. 4

Question Number : 12 Question Id : 64635012083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poszitive freedom means

(1) Grounded thought {2) Purszuing eertain set goals
(3 Freedom with conditions (4) Providing identified means
Options:

E4E35047543. 1
64535047544, 2
64535047545, 3
64535047546, 4

Question Number : 13 Question Id : 64635012084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Some scholars consider social responsibility aspect of media as

(1) Negative freedom (2) Pluralism
(3) Democratization of media (4) Authoritarianism
Options:

64535047547, 1
64535047548, 2
64535047549, 3
E4E35047550. 4

Question Number : 14 Question Id : 64635012085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to, John Merrill, seeking improvement in media, is

(1) Appropriate (2) Well-intentioned
3 Inevitable (4) Self-serving
Options:

64535047551, 1
64535047552, 2
64535047552, 3
E4E35047554. 4

Question Number : 15 Question Id : 64635012086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The passage eritically analvses
(1) Operation of journalists
(2) Mandate for government
(3) Social responsibility theory of media
4 Remimented autonomy of journalists
Options:
4535047555, 1
E4525047558. 2
E4535047557. 3
64535047558 4

Question Id : 64635012081 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635012082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047539, 1
64535047540, 2
64535047541, 3
EAE35047542. 4

Question Number : 12 Question Id : 64635012083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047543 1
4835047544 2
4535047545 =2
64535047546, 4

Question Number : 13 Question Id : 64635012084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047547, 1
64535047548, 2
E4E35047549. 3
E4E35047550. 4

Question Number : 14 Question Id : 64635012085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047551, 1
E4E35047552. 2
E4E35047553. 3
64535047554, 4

Question Number : 15 Question Id : 64635012086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635047555 1

64535047556, 2

64635047557 3

64535047555 4

Sub-Section Number: 3
Sub-Section 1d: 646350572
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635012087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A):  Media entertainment does not enhance the cultural level of society.

Reazon (R): Most media entertainment encourages ezcapism, not content guality

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 15 true, but (R) 1s false

i4) (A) iz falze, but (R) iz true

Options:

64535047559, 1
64535047560, 2
4835047561, 2
64535047562, 4

Question Number : 16 Question Id : 64635012087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635047559, 1
64535047560, 2
64535047561, =
64535047562, 4

Question Number : 17 Question Id : 64635012088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Communieation through colours can result in
{a) Aesthetic codes
{b) Cultural codes
{e) Semantic codes
(d) Binaryv codes

Choosze the correet answer from the options given below:

(I} (a)and(d) 2y (b) and {(c)
(3)  (b)and (d) 4} (a)and (b)
Options:

64535047562, 1
E4E35047564. 2
E4E35047565. 3
64535047566, 4



Question Number : 17 Question Id : 64635012088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535047563. 1
64535047564, 2
64535047565, 3
64535047566, 4

Question Number : 18 Question Id : 64635012089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the communication process, signs derive meanings through
(1) The subjectivity of various components
(2) The objectivity of the decoder
(3 The network of inter-relations

4) The neutrality of the channel

Options:

4535047567, 1
64535047568, 2
64535047569 =
64535047570, 4

Question Number : 18 Question Id : 64635012089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535047567, 1

64535047568, 2

64535047569, 3

E4E25047570. 4

Question Number : 19 Question Id : 64635012090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Language of communication also constitutes

(1) The random world {2} The social world
(@)  The divine world {4} The unsanctified world
Options:

64535047571, 1
EAE35047572. 2
EdE35047573. 3
64535047574, 4

Question Number : 19 Question Id : 64635012090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) ami=os 9m (2) \Efa® T,
(3) wimam (4) amufis w
Options:

B4E35047571. 1
64535047572 2
64535047573, 3
64535047574, 4

Question Number : 20 Question Id : 64635012091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Connotative communication inside the elassroom is

(1) Direct (2) Critical
(3) Implicit (4) E=xplicit
Options:

64535047575, 1
64535047576, 2
EAE35047577. 3
E4E35047578. 4

Question Number : 20 Question Id : 64635012091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35047575. 1
EAE35047576. 2
6435047577, 3
64535047578, 4

Question Number : 21 Question Id : 64635012092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Choosze the mizsing term out of the given alternatives : QPO NML, EJI,

(1) HGF (Z) CAB
(3) JEL 4y GHI
Options:

64535047579, 1
E4E35047580. 2
E4E35047581. 3
64535047582, 4

Question Number : 21 Question Id : 64635012092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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QPO, NML, KJI,

(1) HGF (Z) CAB
# JKL (4 GHI
Options:

64535047579, 1
64535047580, 2
E4E35047581. 3
EAE35047582. 4

Question Number : 22 Question Id : 64635012093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The zum of all even natural numbers between 1 and 21 is

(1) 3280 (Z)y 3321
51] 1646 (4) 1840
Options:

64535047583, 1
64535047584, 2
64535047585, 3
64535047586, 4

Question Number : 22 Question Id : 64635012093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3280 (2 3321
(3 1646 (4) 1640
Options:

EAE35047583. 1
E4E35047584. 2
64535047585, 3
64535047586, 4



Question Number : 23 Question Id : 64635012094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a bag, there ave coins of 5 ps, 10 ps and 25 psin the ratio of 3:2:1. If there are Re. 80 in all
how many 5 ps coins are there?

(1) 100 (2 200
(% 300 (4) 400
Options:

E4E35047587. 1
64535047588, 2
64535047589, 3
64535047530, 4

Question Number : 23 Question Id : 64635012094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 100 (& 200
(3 300 (4 400
Options:

E4E35047587. 1
64535047588, 2
64535047589, 3
64535047530, 4

Question Number : 24 Question Id : 64635012095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mansj's commizsion is 10% on all sales upto Rs. 10,000 and 5% on all sales exceeding this.

He remits Rs. 75,500 to his company after deducting his commission. The total sales will
come out to be

{I) Rs. 78000 {2y Rs. 80,000
(3  Hs 85,000 {4y Rs, 90,000
Options:

645350475591, 1
645350475382, 2
64535047532, 3
E4E35047554. 4

Question Number : 24 Question Id : 64635012095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F T 10,000 7= $ fikt & == 1 wiioe 10% @ v o #1500 F sme w9 5% R
W FHEH HEH % AE A% FFH FFE F T 75,000 woR w0 #) T 1 % ae0ta am 3y

(1) ¥ 78,000 {2) %30000
(3 ¥ 85,000 4) T 20,000

Options:



E4535047591. 1
64535047582, 2
64535047583, 3
645350475394, 4

Question Number : 25 Question Id : 64635012096 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
The simple interest on a certain sum of money for 3 vears at 4% per annum is half the

compound interest on Re. 2,000 for 2 vears at 10% per annum, The sum invested on simple
interest iz

(1) Re. 8750 (2) Re. 1,750
(3 Rs. 2,500 (40 Rs. 3,500
Options:

64535047555, 1
64535047536, 2
64535047537, 3
E4E350475395. 4

Question Number : 25 Question Id : 64635012096 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

foredt vt w 4% ot & T E 3 & = mumm s € 2000 $ geuin R Tw 10% wids S m e 2
i ¥ Twglg TF F A R WmuT e § ey T e #5 i am A7

(1) T 8,700 2y TL7a0
)] ® 2,500 {4y * 3500
Options:

E4E350475595. 1
E4E35047596. 2
64535047557, 3
64535047538, 4

Question Number : 26 Question Id : 64635012097 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

If proposition ‘some milk is eurd’ is taken to be true then which of the following propositions
can bE' fﬂlEE?

(1) No milk i= curd {2y All milk is curd
(3 Some curd is milk {4} Some milk is not curd
Options:

E4E35047599. 1
E4E35047600. 2
645350476801, 3
64535047602, 4

Question Number : 26 Question Id : 64635012097 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



Itz 7 T To T T AW ¥ F W 9 9w Fetatan suR a5 2 | e wm e

(1) wrdgm o o wm R (2) =+ 78 o g R
(3 FowHwEmY 4 ¥o 78 = o gm
Options:

E4E35047595. 1
E4E35047600. 2
645350476801, 3
64535047602, 4

Question Number : 27 Question Id : 64635012098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions eould be validly drawn from the premizes?
Premises: (i) All cats are dogs

(11) All dogs are cows

Conclusions:

{a) All cats are cows
(b} Some cows are cats
{c) All dogs are cats
(d) Nocow isdog

Select the correct answer from the options given below:

(1) (b, (c) and (d) (2) (d)only
3) (a)and (b) 4 (b)and (d)
Options:

E4E35047603. 1
E4535047604. 2
645350476805, 3
64535047606, 4

Question Number : 27 Question Id : 64635012098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9/ 7 e are e e # Faam A e e o #) o Al | Reetehan 9 8 w90 e
et = o E7

AT A (1) = g 54 )
(ii) =] Eu_;l T #

foreprd - (a) =t fafzsi T 8)
(b) F T Tt £
(c) =it %= Tagdh &
(d) = o T R

Jr= fim o faeed O O ot 3w 1 == Sfa

(1) (b}, (c) =i (d) (2) === (d)
(3) (a2 b 4 (b)#id)
Options:

E4E35047603. 1
E4E35047604. 2
645350476805, 3



EAE35047606. 4

Question Number : 28 Question Id : 64635012099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which method of arriving at knowledge the emphasiz is on both proceeding from

particular to general and from general to particular in a combined way?

(1) Inductive method
{2) Deductive method
{3) Scientific method
{4) Analogieal method
Options:
E4E25047607. 1
64535047608, 2
64635047609 2
64535047610 4

Question Number : 28 Question Id : 64635012099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 7% T4 1 fEm fafa § dgw e @ fafe & anrm @ o ofn e @ fafm o smoEm W
Ta fom 9 2

(1) s iy

(3 T i

(3) e fafy
(4 HgEs fafa
Options:

64535047607, 1
64535047608, 2
E4E35047608. 3
EAE35047610. 4

Question Number : 29 Question Id : 64635012100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifj.‘ the reasoning in the follawing arguments

‘A pilot without flight plans is like an artist without paints’.

(1) Analogical {2}  Deductive
(3) Induetive (4) Hypothetical
Options:

64535047611, 1
64535047612, 2
E4E35047613. 3
E4E35047614. 4



Question Number : 29 Question Id : 64635012100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frtalias 7= aag § T & TH0 W TEaE ey

fam el 7=m O aren R, TION % 9 FEET & TE g A

(1) o= (2) T
{3} AT (4 O
Options:

E4E35047611. 1
E4E35047612. 2
64535047613, 3
64535047614, 4

Question Number : 30 Question Id : 64635012101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The proposition ‘some trees are green’ is equivalent to which of the following propoesitions?
{a) Many trees are green

(b}  Some green things are trees

() Some green things are not non-trees

id) Trees are usually green

Select the correct answer from the options given below:
(1) (&), (&), () and (d)
(2)  (b)and (d)
(3 {a) only
4 (c)and (d)
Options:
64535047615 1
64635047616 2

64535047617, 3
E4E35047615. 4

Question Number : 30 Question Id : 64635012101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T o Yo R ¥ Frefofen § @ fe vhew ¥ wed 27
(&) = Tw

(b) %= 7l == 9z 4|

(©) %o ¥ = -1 7 #

(d) W F A A

gt fom o forre & & wh T TR i
D (@), (), (@) #h(d)

(2) (b))

(3) wEr(a)

@ (o) ()

Options:

64635047615, 1
64535047616, 2
64535047617, 2
4835047618 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

4
646350573
Yes

Question Id : 64635012102 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

Consider the following two tables (I and II) that show the percentage wise distribution (%) of
the number of laptops sold by a shopkeeper during a period of six months from April to
September 2018 and the ratio between the number of laptops sold of brand HF (H) and
brand DELL (D) during the same six monthe A total of 45000 laptops have been sold during
these six months. Study these tables I and II and answer the questions that follow

I. Sale of laptops Month wise II. Laptops Brand Ratio
Name of Month | % of Lapteps | | Name of Month | Ratis
April 17 H|D
May 22 April 8|7
June 25 May 4156
July g8 June 3|2
August 12 July 7]5
September 16 August 718

September 7|9

Sub questions

Question Number : 31 Question Id : 64635012103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of the number of laptops sold of brand D during April to those sold during
September of the same brand?

(1) 119 : 145 (2 116:1356
(3) 119 : 135 4 119:130
Options:

645350476159, 1
64535047620, 2
64535047621, 3
EAEZ5047E22. 4

Question Number : 32 Question Id : 64635012104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 35% of the laptops =old of brand H during August were sold at a discount, how many
laptops of brand H during that month were sold without a discount?

(1) 8a2 (2y 1835
(3) 1638 4 B85
Options:

64535047623, 1
64535047624, 2
EAE35047625. 3
EAE35047E26. 4

Question Number : 33 Question Id : 64635012105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the chop keeperearned a profit of ¥ 434 on each laptop cold of brand D during July, what
was his total profit earned on the laptops of that brand during the same month?

i1 T 6,51,900 {(2) ¥ 6465000
(3 £ 6,49, 500 {4) T 6,51,000
Options:

EAEZ5047627. 1
E4E35047628. 2
64535047625, 3
64535047630, 4

Question Number : 34 Question Id : 64635012106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of laptops sold of brand H during April is approximately what percent of the
number of laptops zold of brand H during September?

() 110 (2) 140
(3) 130 4 130
Options:

645350476351, 1
EAE35047632. 2
E4E35047633. 3
64535047634, 4



Question Number : 35 Question Id : 64635012107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the total number of laptops gold of brand D during May and June together?

(1) 9800 (%) 10000
(3) 10500 (4) 15000
Options:

E4E35047635. 1
E4E35047636. 2
64535047637, 3
64535047638, 4

Question Id : 64635012102 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension

Frafafian & mifemmad (1 o I1) w0 fem 0 o oim, 2018 & fiman, 2018 7% & o 9+ &
2T T R 0 F T Aveia i e w1 wiveran G (% 9) i e #) e f, 59 5w
= ¥@y F 2= #vs HP (H) # #vs DELL (D) ¥ = 7o @y 1 w2 5 4= o5 = o
T T 1 o % e % 45000 Seey # fa ) wien [ et W e woTan Se
fom o w9 =1 I 2

I #mefe & ofmam fslt | | L @y wfvsi =1 o
E A A % | | Wi o A | aEem
e 17 H|D
i 22 April 8 | 7
= 25 May 4 | D
ﬁﬂ'li 8 June 312
T 12 July T|6
fean 16 August 7(8
September T |=

Sub questions

Question Number : 31 Question Id : 64635012103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SMEtE I DEs R MATN A sh i e s i R M A T =

e R

{1y 119:145 {2 116:135
(3) 119: 135 i4) 119:130
Options:

64535047619, 1
64535047620, 2
E4E35047621. 3
EAE35047622. 4

Question Number : 32 Question Id : 64635012104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



R F g ars H % dwfu 35% % foms (o) e ma s sfH s g as H+
faem dwefy famn frome % 39 mo?

(1) asa2 (& 1635
i3 1838 (4) 885
Options:

64535047623, 1
64535047624, 2
EAE35047625. 3
EAE35047E26. 4

Question Number : 33 Question Id : 64635012105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afg, TR F For % 2 wive D # wed Aedt # W T 434 1 e 1 W s e F 2
T AivE & AT W e o W fEen e

(1) ¥ 6,51,900 (2) T 646500
{3) ¥ 6,40,500 {4 ®§,51,000
Options:

64535047627, 1
64535047628, 2
E4E35047629. 3
EAE35047630. 4

Question Number : 34 Question Id : 64635012106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferer & 2 wfs H 5 39 e fwfe 5 guw 5 wim fey afrmm =9 #ive 5 9 sfo d 39 my

(1) 110 (2) 140
{3 130 4 130
Options:

64535047631, 1
EAE35047E32. 2
EAE35047633. 3
E4E35047634. 4

Question Number : 35 Question Id : 64635012107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=i #R 97 o wE w e @ve D % % e ae i

(1) 9500 (2) 10000
3 10500 (4) 15000
Options:

E4E35047635. 1
E4E35047636. 2
64535047637, 3



EAE35047638. 4

Sub-Section Number: 5
Sub-Section 1d: 646350574
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635012108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why would BCC: be used in an &-mail?

(1) BCC: allows the recipient to identify all the other recipients in the list when a group
email address is used

(4] BCC: allows the sender to indicate who the email is for if there is more than one

recipient

(3 BCC: allows the sender of a message to conceal the recipient entered inthe BCC: fisld

from the other recipients
i4) BCC: allows recipients to be vizible to all other recipients of the message
Options:
E4E35047639. 1
E4E35047640. 2
64535047641, 3
64535047642, 4

Question Number : 36 Question Id : 64635012108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7w § BCC : =1 waim =9 fem = &7

(1) == e @ Fm = v fem = 2 1 Sfid BOC - % e 9 99 9 & o = sfatr 4
TR ¥ HET B

F L Y

2 TEoswidsiEiiMEH ARG IEECC. T EMTE R it
T s fom 2

(3) ol &89 = I9s BCC: % wam & BCC : Fivs & wiae St 36 we=m o= wfufrai & foar e
R 3

(4 HfEft BCC . =1 wam = e &9 & o wofi sl =50 2w wen €

Options:

C4E25047E39. 1

c4de2E047e40, 2

CAE3E047641. 2

CAEZE047542 4

Question Number : 37 Question Id : 64635012109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



With respect to computers, which one of the following best deseribes phishing?
{1} A malicious program installed on a svztem that staye concealed to avoid detection

tﬁj A method of b}'passing normal authentication prucedureﬁ. over a connection to a

network
(d) A tvpe of unsolicited bulk email of identical messages sent to numerous recipients

(4) An attempt to acquire sensitive information for malicious reasons, by masquerading
as a trustworthy entity
Options:
E4535047643 1
64535047644 2
64635047645 3
64535047646, 4

Question Number : 37 Question Id : 64635012109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fro & wed |, Featatas 5 @ i9-w feHm (phishing) 1 wEiias dw =9 § sanEaara & 27

() == fores = omntm o glen o w1 v o E® a=e % fom e v w2
(2) fodh Sk & e S5 W oraen e W W aries w5 A
(3) = IR % TS T wee we (BEE) W T W w1 e av e

(4) o Fvawa zaltE & =9 H SUEY T gHiG B HEEATTE SHET T S w1
Options:
64535047643 1
64535047644 2
64535047645 2
G4AE35047646. 4

Question Number : 38 Question Id : 64635012110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an example of proprietary system software?

(1) Linux (2} Mierosoft Internet explover
()] Microsoft office (4 Microsoft windows
Options:

E4E35047647. 1
E4E35047648. 2
64535047645, 3
64535047650, 4

Question Number : 38 Question Id : 64635012110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafafian & § Fi3-m W fows Siwam w1 e

(1) e (2) =TSR T W
(3)  wrERmEiE WEE (4) = e
Options:

64535047647, 1
64535047648, 2
64535047649, 3
E4E35047650. 4

Question Number : 39 Question Id : 64635012111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jatin’z laptop has a LCD sereen. The acronym LCD stands for :
(1) Light Crystal Display

(2) Liquid Compact Display

(3 Light Compact Display

(4) Liguid Crystal Display

Options:

64635047651, 1
64535047652, 2
64535047653 2
4835047654 4

Question Number : 39 Question Id : 64635012111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= % whedte § U T H % S 31 LCD Fratatan o | feee diamen 27

(1) vz fFemm f=@t (Light Crystal Display)

(2 ffre =iedge 529 (Liguid Compact Display)
{3) = w9z 7= (Light Compact Display)
(4) fafre frmzw feot (Liguid Crvetal Display)

Options:

4535047651, 1
64535047652, 2
64535047652, o
64535047654, 4

Question Number : 40 Question Id : 64635012112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A computer network which is used within a building is called a

(1) WAN
(2) MAN
{3  LAN
i4) SAN
Options:

64535047655, 1
E4E35047E5E. 2
EAE35047657. 3
E4535047658. 4

Question Number : 40 Question Id : 64635012112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forelt wam & o T SETen SRR Ao 27

(1) WAN
2) MAN
(3) LAN
4) SAN
Options:

64535047655, 1
64535047656, 2
64535047657, 3
E4E35047E5E. 4

Question Number : 41 Question Id : 64635012113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following dizasters belongs to the category of nuclear disasters?
(a) Fukushima dizaster

(b} Chernobv] disaster

() Three mile Island incident

{d) The love canal disaster

Choose vour answer from the options given below:

(13 (&), (b) and (e)

(2 (a), (B) and (d)

(3] (a), (c) and (d)

(4) (b), (e) and (d)

Options:
64535047659 1



EAE35047660. 2
645350476861, 3
64535047862, 4

Question Number : 41 Question Id : 64635012113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafes & 8 33 = s ity s 0 a0l = st 27
(8) FEEE A
(b) =T ATy
() ot mrgw wedE W
() T2 v e feamm
fret fam o Fedl 5 9 9 3 1 =99 ey

Tz
() (a), (b) 3 (e
2 (a), (b) ()
3 (a), () #(d)

4 (b}, (c) = {d)

Options:

64535047659, 1
64535047660, 2
64535047661, =
E4E350476E2. 4

Question Number : 42 Question Id : 64635012114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement I -  Most of the member countries in the International solar Alliance are
located between the tropic of cancer and tropic of Capricorn

Statement [I — Japan is a member country of the International solar alliance,

Which of the above statement isfare correct?

(1) I only {2y IIonly
(3 EothI and II (4) Neither I nor II
Options:

645350476863, 1
64535047664, 2
64535047665, 3
EAEZ5047EEE. 4

Question Number : 42 Question Id : 64635012114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047663, 1
64535047664, 2
E4E35047EES. 3
EAE35047EEE. 4

Question Number : 43 Question Id : 64635012115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements in the context of Millennium Development Goals (MDGs)
adopted by the United Nations

{a) [Eradicate extreme poverty and hunger
)  Impreve maternal health

i} Responsible consumption and produetion
id) Reduce child mortality

Choose the correct answer from the options given below

(I) (&), (b)and () (2) (b)), (e} and (d)
(3  (a), (b)and (d) (4) (a), (c) and (d)
Options:

64535047667, 1
64535047668, 2
64535047669, 3
EAEZ5047670. 4

Question Number : 43 Question Id : 64635012115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HF TE G A T TEere P med (MDG) % = & Pttt we w e fif?
{a) =% fefm ot el = =g
(b) T TEEE H R
(€) SotEmamET S #Hit semeA
(d) =TE FE-TF FFA
dret Tom o fereal & © W 99 w1 W iy

T
(1 (a), (b) ¥ () (2 (), () #(d)
3 (), (b) 3 () (4 (a), (c) 3 ()

Options:

64535047667, 1
64535047668, 2
64535047669, 3
EAEZ5047670. 4

Question Number : 44 Question Id : 64635012116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Assertion (A) - Night time temperatures in the central parts of a city are generally higher

than those over the surrounding rural areas

Beason (B)- Radiation losses over the urban areas are less than that over the rural

areas

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(:3) (A) is true but (R) is false

(4) (A) iz falze but (R) iz true

Options:

64535047671, 1
E4E35047872. 2
E4E35047E732. 2
64535047674, 4

Question Number : 44 Question Id : 64635012116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At (A) - Tt wrer = To7 W E T F NS SU0-TT0 F TEW A9 % SSwieE e o
e W At B 2
T (R): TE B H gETEl TErR R W &6 § geE e wEE | R g 2

4= i o faeewl 5§ W I = w99 wian

() (A &R ®) 7= =6 1 R), (A) F =6 e

(2} (A) ¥R (R) =9 =8 # v (R), (A) F w6 e 9 R
(3 (A Tt = (R) T #

4 (A Ewa R) w2
Options:
64535047671, 1
64G35047672. 2
E4AE35047673. 3
64535047674, 4

Question Number : 45 Question Id : 64635012117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Pariz Agreement aims to limit the temperature rise in thiz centurv by how many

degrees Celsius above the pre-industrial levels?

(1) 1°C & PC
3 05°C 4 3°C
Options:

EAE35047675. 1
EAE3504767E. 2
BAE35047877. 3
64535047675, 4

Question Number : 45 Question Id : 64635012117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ui FAH F FEI I WA | G At F - i T | e 5 afthes s it
FET
@ 1°c @ 2C
(3 0.5°C 4 3°C
Options:

64535047675, 1
64535047676, 2
E4E35047677. 3
EAE3504767E. 4

Question Number : 46 Question Id : 64635012118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following coordinates, promotes and funds research activities of all =oeial
sciences disciplines?
(1) ICPR, New Delhi
(2) ITAS, Shimla
1] ICS5R, New Delhi
(d) NUEPA, New Delhi
Options:
4525047679 1
E4535047680. 2

645350476881, 3
645350476582, 4

Question Number : 46 Question Id : 64635012118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pt & 2 s gwn oo fama 6 oot srened <6t s wiafata =0 o = 2, 391 mmmE

1 2 st T fEm = R
(1) ICPR, # f&di
(2)  IIAS, fimen

(3) ICSSR, 7¢ figt
{4 NUEPA, = &
Options:
LdE3E047E7a 1
CAEZENAFEE0, 2

E4E35047E8]. 3
EAE35047682. 4

Question Number : 47 Question Id : 64635012119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"Gvanvami” launched by IGNOU to cover the educational needs of India refers to
(1) Satellite based edueational T V. channel

(2) Educational F.M. Radic network

{3) Global imitative of academic networks
{4 MOOCs
Options:

64535047683, 1
64535047654, 2
64535047685, 3
EAE35047EEE. 4

Question Number : 47 Question Id : 64635012119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T WA Fi A T S w5 e #6172

(1) TqrE i fahes F S
2y g Tew. = G
(3)  wrTeeE Toww 4 ATes T

4 RS
Options:
64535047653, 1
645350476584, 2
64535047685 2
GAE3E0476E6. 4

Question Number : 48 Question Id : 64635012120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A special focus on the problems of examination svstem of India formed a part of which one of
the following reports?
(1) Report of the Caleutta university commission
(2 Report of the University Education commission (1964-66)
] Hartog committee report
i4) Report on standards of University edueation UGC (1965)
Options:
E4E25047687. 1
E4535047688. 2

645350476889, 3
64535047630, 4

Question Number : 48 Question Id : 64635012120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA | wiE gl %1 seeme w fawn ow faetatan ford | @ e o ford s am 27
(1) wewn vt s 6 fofd
() Tawarme Mo ammm #1 ford (1964-66)
(3) o w= A T
(4 gt et e w1 o aEdh T (1965)

Options:

4535047657, 1
64535047688, 2
64535047689, o
64535047690, 4

Question Number : 49 Question Id : 64635012121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following universities is not among the first three that were established

during 18577

(1) Caleutta

(2) Bombay

(3 Delhi

() Madras
Options:

E45350476591. 1
645350476382, 2
64535047633, 3
64535047634, 4

Question Number : 49 Question Id : 64635012121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafefan & 3 $hh-= et 1857 F 209 =i wiars v 9 et 9 38 27
(1) ==
(2 ==
(3 &
4 ===
Options:

645350476591, 1
64535047632, 2
64535047633, 3
E4E35047654, 4

Question Number : 50 Question Id : 64635012122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following Ancient Indian universities, the culture and civilization of Tibet
was bult mainly through the writings of the scholars?

{(l) Nalanda
2 Vikramsila
{3y  Jagaddala
{4y  Mithila
Options:
64535047635, 1
E4E2504768E, 2

EAE3504768397. 3
E4E350476398. 4

Question Number : 50 Question Id : 64635012122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f=fafem 5 5 fem w=i T favataares & oem: fagal $ oem % 9iom | frem ) w57 o
=M #1 A g @ ?

(1 T

(2)  femsfaren

(3 A

CIR ]
Options:

64535047635, 1
64535047636, 2
E4E350478597. 3
E4E350476398. 4

PART II Geography
Section Id : 646350314



Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350575
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635012123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The direction of a dip in reference of strike is alwavs at which of the following angles?

l.  Acuteangle

2

Obtuse angle
3. Right angle
4. Straight angle
Options:
64535047693, 1
64635047700 2

E4E35047701. 3
64535047702, 4

Question Number : 51 Question Id : 64635012123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
& g # afa #t femn g Foffee & @ fea s g6t &2

1. TA=m

2. iEeim

3. e

4. Fgem
Options:

E4E350476595. 1
E4E35047700. 2
64535047701, 3
64535047702, 4

Question Number : 52 Question Id : 64635012124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In a fold if both limbs are parallel as well as horizontal to each other, it would be a case
of which of the following tvpes of folds?

1. Isocline

2. Recumbent

3. Open
4  Closed
Options:

64535047703, 1
64535047704, 2
64535047705, 3
EAE35047 706, 4

Question Number : 52 Question Id : 64635012124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afz ferst aom & St fri SRR 9 S 9y-Ty te-gi & 4faw ot L T e frm v

& q0H &1 3SR BIT?
1. oA
2, WAOE
3. fam
4, Egm
Options:

64535047703, 1
64535047704, 2
64535047705, 3
EAE35047 706, 4

Question Number : 53 Question Id : 64635012125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Meunt St. Helens is located in which part of the world?
1. UsA

2. Java Sea

e
3

Andaman Sea
4. Aegean Sea
Options:
E4e2E047707. 1
64535047708, 2

E4E35047703. 3
64535047710, 4

Question Number : 53 Question Id : 64635012125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



wave ¥ i Ry F e wm H emfRE 87
1. HgEd e HANE
2. WEERR
3. HESAR AR
4.  ufFma e

Options:

64535047707, 1
64535047708, 2
4835047709, 2
64535047710, 4

Question Number : 54 Question Id : 64635012126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is NOT a part of Circum-Pacific Volcanic belt?

1.  Aleutian islands
3 Mindanao island
3. Azores islands

4. Sakhalin island
Options:
64535047711, 1
64535047712 2
E4E35047712. 2
4535047714 4

Question Number : 54 Question Id : 64635012126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PraffT & § 2.1 SRda-wa s T = v T 2

1. UdREE geEs

2. fizrshd

3. T gIE

4. wENTAEN
Options:

645350477111
64535047712 2
E4E35047713. 3
EAE35047714. 4

Question Number : 55 Question Id : 64635012127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following type of weathering is generally dominant in Greater
Himalavas?

1. Block disintegration
2 Seree formation
3. Exfoliation

4.  Granular disintegration
Options:
64635047715 1
64535047716 2
E4B25047717. 3
EAE25047718 4

Question Number : 55 Question Id : 64635012127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
954 femme & FmftfEn 4 3 5w ven &1 smemm smaaR | ve 87

1. s fwe

2. w9

3. fouesa EEwieE)

4. wivww fEee
Options:

E4E35047715. 1
EAE35047 716, 2
BAE35047717. 3
64535047718, 4

Question Number : 56 Question Id : 64635012128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Deown-warping is produced on aceount of which of the following actions?
1.  Crustal fracture
2. Crustal bending
3 Submergence
4 Emergence

Options:

64535047719, 1
64535047720, 2
64535047721, 2
E4E35047722. 4

Question Number : 56 Question Id : 64635012128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e = 3 e v &t oo 3 Faee Ssraa &7

1. T fra
2. i gE
3. Fwes

4. IHEH

Options:

64635047719, 1
4835047720, 2
64535047721, 5
64535047722, 4

Question Number : 57 Question Id : 64635012129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The constructive margin of lithospheric plates i1s represented by which of the
following?

1.  Ural mountains

2. Mariana trench

3.  Inde-Gangetie plain
4. Mid-Atlantic ridge

Options:

64535047723, 1
4835047724 2
E4E35047725. 2
4535047726, 4

Question Number : 57 Question Id : 64635012129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wETUSHE iR ws & e U o S # @ e e sifteoes fm wm g

. TWEwdd
2. whmEEs
3. Ry-maem

4, HW-MeETifes Hew
Options:
64635047723 1
64635047724 2
E4E25047725. 2
64535047726, 4

Question Number : 58 Question Id : 64635012130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



San Andreas Fault represents which one of the following?

1. Benioff zone

.I'_J

Constructive margin of the plate

Lad

Destructive margin of the plate
4. Conservative margin of the plate

Options:

CAGZEQ4F 27 1

CAEZE047 728 2

CAE2E047 729 2

C4ds2E047730. 4

Question Number : 58 Question Id : 64635012130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

F7 T yw Fofifen & 3 e gos &2
1. 3T d=
1. g (@) B TEATES i
3. ofEe (@) = Rudus wifea
4. offE (@) = Fedien Al

Options:

64E35047727. 1

G4AB3E047728. 2

BAE35047729. 3
64535047730, 4

Question Number : 59 Question Id : 64635012131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the fnllmving avalanches are most destructive in nature”
1. Loose snow
2. Slab
3.  Powder snow

4. Wet snow
Options:
64635047731 1
64535047732 2
E4E250477335. 3
EAE25047734 4

Question Number : 59 Question Id : 64635012131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Praffe 33 2.3 R W = 8 weifts R 8 &

1. srgfem

. W

3. oiffem

4, mEfEm
Options:

64535047731, 1
EAE35047 732, 2
EdE35047733. 3
64535047734, 4

Question Number : 60 Question Id : 64635012132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :

List—I List—II
(Geomorphic Hazards) {Areas of Ocourrence)
(a) Faulting (1) Krakatoa Earthquake (1883)
(b)  Vulcanicity (i) Greece Earthquake (1931)
(c) Hwdrostatic pressure ()  Gujarat Earthquake (2001)
(d) Plate movement (v) California Earthquake (1906)

Choose the correct option from those given below :
L (@A) () (Hiv) (-0
20 (aya) M) (eGi); (div)
3. () ®HGv) (@0 (-6

4. (@A) (bHE; (eHii): (d)H(ii)
Options:
E4E25047735. 1
E4E635047736. 2
E4E635047737. 3
E4E635047738. 4

Question Number : 60 Question Id : 64635012132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



eI St Fefi-11 & gt i

-1 -1
(EFiaE T9e) (FeT-8H)
(2) W=H i) TBTEal Y (1883)
(b) wATETHEA (ii) AT MU (1931)
(¢) Fadiae®qEE (i) T Y& (2001)
(d) e EEET Gv) e @ (1906)
fem o fareal & | W8 IR &1 999 S0 -

Lo @) (G ©-Gv) (d)-6)
2. (aH); (b)) (i), (d)Hiv)
300 (@) (oGv); (-0 (d)Gii)
4. (i) ()Hi: () (d)(il)

Options:

64535047735, 1
64535047736, 2
E4E35047737. 2
E4E35047738. 4

Question Number : 61 Question Id : 64635012133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following surfaces produces maximum albeda?

1. Fresh snow cover
2. Cloud cover
3.  Forest cover

4. Desert Cover

Options:

4535047739, 1
64535047740, 2
64535047741, =
64535047742 4

Question Number : 61 Question Id : 64635012133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frofefaa 4 @ 19 s gog siftean ufees! g1 st 27

1. oo ftarsTe
-5 | B G

[

RIS

Lid

4. HETT HT=BTo
Options:
64835047739, 1
4835047740, 2
64535047741, 5



EAE35047 742, 4

Question Number : 62 Question Id : 64635012134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

La Nifia phenomenocn is due to which of the following conditions?

1.  Airpressure dropping over central and eastemn Pacific Ocean

2. Weak high pressure system replacing normal pressure over westem Pacific

3. An abnormal accumulation of cold water in central and eastem Pacific
resulting into very strong trade winds

4. The wade winds over the Pacific Ocean move strongly from west to east

Options:

64535047743, 1
64535047744 2
E4E35047745 2
64535047746, 4

Question Number : 62 Question Id : 64635012134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Faftrfem & @ form ofvfRufe & sro o B 9o ofafen at 27

1. e i Ol weie AEET & S 591 & 5T B HH

2. dfidh muin 49 ¥ oW THeR 3= @ WO o g T Ry S
R F

e AR qH G & F S 9§ 63 00 &1 9Hd o] 9 SIe
i ST gEEl & w0 H gl 8

4. Wi AR F S0 ST el & ufEe 9 OwE 91 SR ardene o nfa 9
=&

Lad

Options:

4535047743, 1
64535047744 2
64535047745 2
4835047746, 4

Question Number : 63 Question Id : 64635012135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which frontal stage warm air is uplifted and is cooled, condensed and precipitated?

1. Stationary front
2 4 ‘i‘i-a‘.l'n'.l. fl'ﬂﬂt
3. Cold from

4. Occluded front
Options:
G4AE35047747 1
64535047748 2
64535047749 3
64535047750, 4



Question Number : 63 Question Id : 64635012135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
for aramdt =vor & Sw 7 TR F1 R Iod & au 52 et & duit 2t & v e &

1. W s

2. Emd

3. iam

4. iR (ffRES) om
Options:

EAE35047747. 1
EdE35047748. 2
645350477459, 3
64535047750, 4

Question Number : 64 Question Id : 64635012136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consider the following statements regarding air mass characteristics :
(a) An extensive body of air
{(b) Fairly homogenous physical properties
{c) Associated with light divergent winds
(d) Associated with the convergence zones
Select the comrect answer from the codes given below :
1. (a) and (b) are correct
2. {e) and (d) are correct
3. (b}, (c)and (d)are correct

4. (a), (b)and (c) are correct

Options:

64835047751, 1
64535047752 2
64535047752, o
64535047754 4

Question Number : 64 Question Id : 64635012136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frafifr et o arg def Toit & ey R Ffg
(2) TG fordiofl e i)
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2. (M OTHE
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Options:
B4635047751. 1
46835047752, 2
64635047753 3
4635047754 4

Question Number : 65 Question Id : 64635012137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the basiz of Thomthwaite's classification of climares?
1.  Precipitation effectiveness and thermal efficiency
2. World distnbution of natural vegetation
3. Distibution of land and waterbodies
4. Movement of air masses

Options:

64635047755, 1
64535047756, 2
64535047757, 2
4835047758 4

Question Number : 65 Question Id : 64635012137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Praftfea # @ S e 3 s wifew =1 anuw &7

1. ooy srfern SR avdta ZamEn

2. WiSfie gaeiadl # 3k e
3. ufty siie et @ R

4. oy el = wmE

Options:
64535047755, 1
E4E35047 756, 2

EAE350477EY. 3



E4E35047 758, 4

Question Number : 66 Question Id : 64635012138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The difference between mean temperature of any place and the mean temperature of its
latitude is called as

1. Temperature anomaly

2. Inversiom of temperature
3. Temperature gradiem

4. Temperature rise

Options:

64635047759, 1
4835047760, 2
64535047761, 5
4535047762, 4

Question Number : 66 Question Id : 64635012138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et & wen aTaEE SR SES ST & Wi GTOHE & ST S 50 HE Wil &7

1. amgaEnfa
2. AuEgEEd
3. ATy
4. wTuyE

Options:

64635047759, 1
64535047760, 2
64535047761, =
E4E350477E2. 4

Question Number : 67 Question Id : 64635012139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the scales of measurement refers to tomado severity and damage?

1.  Saffir-Simpson scale
2. Beaufort scale
3. Fujita scale

4.  Richter scale
Options:
64635047763 1
64535047764 2
E4B25047 765 3
EAE25047766. 4

Question Number : 67 Question Id : 64635012139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
frafefan & 4 oF-8 o @ w50 e 3 i iR 3w 29 arht afa S Fand 22

1. wFrR-forass &

2. EER

3. plaar=sa

4. femwm
Options:

64535047763, 1
64535047764, 2
64535047765, 3
EAE350477EE. 4

Question Number : 68 Question Id : 64635012140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-IT :

List-I List-II
(Local Winds) (Countries)
{a) Norwester i) Switzerland
(b) Yamo (i) New Zealand
(c) Foehn (i) UsA
(d) Chinook {iv)  Japan

Choose the correct option from those given below :

Lo (el -u) ©-0v) (d-a)

[

(a)(i); (b)(iv); (e (d)(ii)
()G (b)Giik ()G (d)-iv)

Lad

4 (av); (b)) (e)-ii); (d)-(i)

Options:

64535047767, 1
64535047768, 2
4835047769 2
E4E35047770. 4

Question Number : 68 Question Id : 64635012140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (@) (b)) (e)-(iv); (d)-()
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(a)(i): (b)iv): (i) (d)iii)

(a)(): bHG): (i) (d)iv)

Lid

4. (ap(v) (G (e)ii) (d)-Gi)
Options:
64535047767, 1
64G3504776E. 2
G4AE350477649. 2
6435047770, 4

Question Number : 69 Question Id : 64635012141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following features related to glacial lake outburst flood (GLOF)

(a) Involves suddenrelease of melt water
(b} Failure of moraine and ice dam
{c) Large down stream discharge causing floods
(d) Rapid event casting for few seconds
Select the comrect answer from the options given below :

1. (a) and (b) are comect

[

(c) and (d) are comrect
3. (a), (b) and (c) are correct
4. (b)), (c) and (d)are comect
Options:
CAEZE047771. 1
CACZE047 772 2

64535047773, 3
64535047774, 4

Question Number : 69 Question Id : 64635012141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835047771, 1
E4E3E047772. 2
64535047772, 5
64535047774 4

Question Number : 70 Question Id : 64635012142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is a meteorological hazard?

1. Flood

2. Land slide

3.  Awvalanche

4. Cloud burst
Options:

EdE35047775. 1
EAE35047 776, 2
BAE35047777. 3
64535047778, 4

Question Number : 70 Question Id : 64635012142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fraferfaa 4§ 2H-d A d@Edt s 22
1. g
2 s
3. o e

4. EREO %A
Options:
4835047775, 1
E4E3504777E. 2
4535047777, o



EAE35047778. 4

Question Number : 71 Question Id : 64635012143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Elman transport aecurs in the
1. Upper ocean
2 Meso-pelagic layer
3.  Bathv-pelagic laver

4. Ocean bottom
Options:
64535047779, 1
64535047730, 2
6435047751, 3
64535047752, 4

Question Number : 71 Question Id : 64635012143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
THiA sfire i) Frafifas & @ foed da 7

1. TEEHE & &9y
2.  wEdTeEdl GO H
3, i idfasEasd

4 wEErRamHE
Options:
64535047779, 1
64535047780, 2
E4E350477E1. 2
E4E35047732. 4

Question Number : 72 Question Id : 64635012144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A halocline refers to a significant change in
1. Density
2. Salinity
3.  Temperature
4. Turbidity

Options:

64535047783, 1
E4E35047734. 2
45350477385 2
645350477356, 4

Question Number : 72 Question Id : 64635012144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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3. AEEE
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Options:

64535047783, 1
64535047754, 2
E4E35047 785, 3
EAE35047 786, 4

Question Number : 73 Question Id : 64635012145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements. One is labelled as Aszertion (A) and the other is
labelled as Reason (R)

Assertion (A) : Higher salinity is found berween 20°407 latitudes.

Reason (R) : Salinity decreases from the mid-latitudes to high latitudes

Select the comect answer from options given below :

1. Both({A)and (R) are true and (R) is the correct explanation of (A)

=2

Both (A) and (R) are true, but (B) is not the correct explanation of (A)

(A)is true, but (R) is false

ad

4. (A)is false, but (R)is true

Options:

64535047787, 1
E4E350477EE. 2
45350477329 2
64535047790, 4

Question Number : 73 Question Id : 64635012145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535047787, 1
64535047788, 2
64535047789, 3
64E35047730. 4

Question Number : 74 Question Id : 64635012146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List—II :

List-1 List-T1
(Ocean Currents) (Location)
{a) Labrador (i)  West Coast of Morocco
(b) Owashia (i) West Coast of South Africa
() Canary (iii) East Coastof Canada
(d) Benguela (v)  East Coast of Korea

Choose the comrect option from those given below :

1. (aHa) &G (e-Gu); (d-Gv)

[

(a)-(i); (b)) (cGv); (drGii)
300 (@), (v (o) (-G
4. (@Hiv) (i), (i) (dHi

Options:

64535047791, 1

64535047732 2

64535047733, 3
64535047734, 4

Question Number : 74 Question Id : 64635012146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a)i); (b (i), (div)

bt

(a)-Gi); (b0 (e)iv) (i)
(aid); (Hv) (i) (d)i)

b

4. () (o)) (e (d)r-()
Options:
645350477311
64535047732 2
64E35047793. 3
G4AE35047794. 4

Question Number : 75 Question Id : 64635012147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El Nifio Southem Oscillation (ENSOQO) is an

1. Ocean process

2. Atmosphenc process

3. Ocean-atmospheric process

4. Ocean-atmosphere-land process

Options:

64535047795, 1
64535047796, 2
E4E350477397. 2
4535047798, 4

Question Number : 75 Question Id : 64635012147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e A=t 2faft Sem € o ) Jn

1. wEMErHG uea

2. argwstig uieE

3. FETERT-arHsT
4. wprErriE-agHsd- uw wle

Options:
4535047795, 1
64535047796, 2



EAE35047737. 3
64535047738, 4

Question Number : 76 Question Id : 64635012148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :

List-I List-II
{Ocean Belief) (Oceans)
(a) Socotra-Chagos nidge (i)  Arctic Ocean
(b) Spitsbergen ridge (ii) Indian Ocean
{e) Mid-Atlantic ridge (iii}  Arlantic Ocean
(d) Cocosridge (iv)  Pacific Ocean

Choose the comect option from those given below
L (ayiy i (c)Gii); (d)yiv)
20 (api); (o), (v (dHE)
3. (v (e)Gid); (e-0); (d)-(i)
4. (i) (b)) (i), (d)iv)
Options:
C4E35047799. 1
CE4EZE047E00. 2

E4E35047801. 3
E4E35047802. 4

Question Number : 76 Question Id : 64635012148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 B gEt-11 & TRt Fif -
-1 -1
(TG st) (HRTHIT)
(a) WrFrE-any e (i)  Sfes wEER
) rewEs e i) s wmETR
(c) fE-scaifes i (iii) Sfeaiica AR
(d) o (v)  VEId HEEER
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Lo (aHi)y (i) (e)iid); (dHiv)
2 (e () (©-0v): (d-0)
300 (aHiv) ()GE); () (d-iD
4. (@) (o (i) (d-iv)

Options:

64535047799, 1
64535047800, 2
64535047801, 2
4835047802, 4



Question Number : 77 Question Id : 64635012149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The densest sea water is the
1.  Arctic bottom water
2. North Pacific bottom water
3. Antarctic bottom water

4. North Atlantic deep water

Options:
4535047503, 1

E4E35047804. 2
64535047805, 3
64535047806, 4

Question Number : 77 Question Id : 64635012149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
i T aren Wl o

1. sEfew gagada @

2, I v S w
3. SicTefed GHEad
4. Iodl aeuifes ik o
Options:
64635047503 1
64635047504, 2
64635047505, 2
E4E35047 506 4

Question Number : 78 Question Id : 64635012150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T-5 diagram helps in determining the formation and extent of
1.  Ocean cuments
2. Tidal waves
3. Coral reefs
4. Warer masses

Options:

64535047807, 1
64535047808, 2
4835047809 2
64535047210, 4

Question Number : 78 Question Id : 64635012150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35047807. 1
E4535047808. 2
64535047805, 3
64535047810, 4

Question Number : 79 Question Id : 64635012151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following countries intends to withdraw from the Paris Agreement?
1.  Neatherands
2. Canada
3. United Kingdom
4, United Seates of America

Options:

64635047311, 1
4835047812 2
645350473512 5
64535047814, 4

Question Number : 79 Question Id : 64635012151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafafas # 4 29-w 3w tfw o § son Rde e ama i

1. +iets
2 R IE=
3. fEs

4. HgEa U HHNE
Options:
64535047811, 1
64535047812 2
64535047813 2
E4AE35047214. 4

Question Number : 80 Question Id : 64635012152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following comprises the largest reservoir of the earth’s cxvgen?
1. Lithosphere
2. Ammosphere
3. Hwdrosphere
4. Biosphere

Options:

64535047515, 1
64535047816, 2
4835047817, 2
645350473515, 4

Question Number : 80 Question Id : 64635012152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
el ¥ @ o= 7t w R siwies & o9 ag ywer 27

1. =mEHEm

2. agHEd

3. TOHET

4. oifgHsE
Options:

E4535047815. 1
64535047816, 2
64535047817, 3
645350478158, 4

Question Number : 81 Question Id : 64635012153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which one of the following places were amendments to the Kyote Protocel adopred?

1.  Abu Dhabi

2 Rivadh

3. Doha

4.  Muscat
Options:

E4535047819. 1
64535047820, 2
64535047821, 3
64535047822, 4

Question Number : 81 Question Id : 64635012153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35047819. 1
E4E35047820. 2
64535047821, 3
64535047822, 4

Question Number : 82 Question Id : 64635012154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is NWOT matched correctlv?

1. Homeostatic Mechanism : Inbuilt self-regulating mechanism in
natural ecosystems to counterbalance any
change in the ecosvstem to maintain
ecological stabilitw

[

Svnecology » Studv  of complex interrelationships
between biological eommunities

(P

Wet Primary Production  :  Amount of energy or organic matter stored
at trophic level one

4. Deep Ecology . Environmentalism based on
anthropocentric point of view

Options:

46350473823, 1
64535047824, 2
64535047825 =
64535047826, 4

Question Number : 82 Question Id : 64635012154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

il & & #H-91 1 gaftm g 27
1. aarRyTE wome : iviRufde Rt & TEH By UIids J g A
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Wefas aiveat o st =-Rfae s
2 dafefRuad - O wErdl & 4 & wfen siaded = s
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CakE il
4. mik offaf=t . Jekeae e R nufia wafwomae
Options:

E4E35047823. 1
EdE35047824. 2
64535047825, 3



EAE35047826. 4

Question Number : 83 Question Id : 64635012155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is NOT responsible for the origin of urban heat islands?

1.  High wind speed

2. Ammospheric pollution

3. Ciry buildings

4.  Central heating svstem of cities

Options:

64535047827, 1
64535047828, 2
64535047829, 2
4835047820 4

Question Number : 83 Question Id : 64635012155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frofafae & & $9-m T o gl (3@ g agdEy) 31 S & o Suted! T8 22

1. SI=gEE R

2. aEgesdta agEm

3, Wl HE

4. vl S aree woned
Options:

EAE35047827. 1
E4E35047828. 2
64535047825, 3
64535047830, 4

Question Number : 84 Question Id : 64635012156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Pamsar Convention is related to which one of the following?
1. Ozone depletion
2. Desertification
3. Wetlands

4. Greenhouse gas emission
Options:
64635047331, 1
6435047532 2
E4E35047533 3
64535047824, 4

Question Number : 84 Question Id : 64635012156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

e w-aEe FaffEe 5 | fewd wdfm 37
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4. HFTEew e e
Options:

64535047831, 1
64535047832, 2
E4E35047833. 3
E4E35047824. 4

Question Number : 85 Question Id : 64635012157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the transition zone between two ecosyvstems known as?
1.  Ecotone

2.  Ecotype

-
2

Biotape
4.  Biome
Options:
E4535047335. 1
64535047836, 2
64835047337 3
64535047325, 4

Question Number : 85 Question Id : 64635012157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=t aifveat & &t & d@ifa &9 & oo e o 22

1. H=fiE gFeE)
2. TwieEd

3, WA

4. =Em

Options:

64535047335, 1
4835047836, 2
64535047527, 5
64535047828, 4

Question Number : 86 Question Id : 64635012158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Sustainable Development Goals comprises of how many goals and targets?
1. 17 goals and 132 targets
2. 17 goals and 169 targets
3. 15 goals and 123 targets

4. 10 goals and 115 targets

Options:

64535047839, 1
64535047840, 2
645350473541, 2
4835047842 4

Question Number : 86 Question Id : 64635012158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“ged faem asr 9 e 3w i) R fraa as EriTe) mia &7

1. 17StmdR 1329
2. 17 SE= e 169 @ag
15 97 4T 123 7&g

Lad

4. 10IEWAHR 115 WG
Options:
EAE2E0475359. 1
CAE2E047840. 2
CAEZ2E047841. 2
4525047842 4

Question Number : 87 Question Id : 64635012159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who amongst the following propounded the “Theory of Intervening Opportunities 7

1. E.G. Ravenstein

2. G.K Zipf

3. D.].Bogue

4. 5. Stouffer
Options:

64535047843, 1
64535047844, 2
64535047845, 3
EAE35047846. 4

Question Number : 87 Question Id : 64635012159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AuEd! SEEd &1 fagia (Ol offE dedi-m e o1 widaes ot 4 9 fFa

fesm a2
1 £t e
2. Wil.% faw
3, ELAEm

4. TUH EREHE

Options:

64835047343 1
4535047844 2
64535047845, o
64535047846, 4

Question Number : 88 Question Id : 64635012160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Asg per the National Population Poliey of India (2000), which of the following is the
target vear to achieve a stable population?

1. 2040
2. 2045
3. 2050
4 2055
Options:

64535047847, 1
645350478458, 2
E4E35047849. 3
E4E35047850. 4

Question Number : 88 Question Id : 64635012160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IRE &1 AT FEEn i (2000) F HER, FEEEn R # iy o 9 = o ad

Faddamd?
1. 2040
2. 2045
i 2050
4. 2055
Options:

64535047847, 1
645350478458, 2
E4E35047849. 3
E4535047850. 4

Question Number : 89 Question Id : 64635012161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following statements is true for Sadler’s theory of population growth?
1. Inerease in human population and food supply are inversely related

2. Human population increases in geometrical progression while food supply
increases in anthmetic progression

ek

Sadler's theory of population growth belongs to the economic theories of
population growth

4.  Human fentility varies inversely with population density
Options:
64835047351 1
E4B25047852. 2
E4E25047853. 3
E4535047354 4

Question Number : 89 Question Id : 64635012161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEE 3 % GETH @ (i & gy d HaietEs syl § @ s-8 uE a8 8
1. weEEnH R s e smfd d Rude ey @
2. wedEn d ofg wnfidi sgea d et & wafs T ongfd 997 senficfa

sgEad Edt

3. wEE e w1 S o fiaia weEn gfE & il fradia e 2
4 HEE P T o § FEEn 999 & fandie e e e

Options:

64535047851, 1

64535047852 2

64535047852, 3

64535047854, 4

Question Number : 90 Question Id : 64635012162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is NOT matched correctly?

I M. T. Sadler : Economic Theories of Population Growth
& W. C. Plowden - Census of India
3. F. W. Notestein : Demographic Transition
4. E. G. Ravenstein : Laws of Migration
Options:

64535047855, 1
E4535047856. 2
E4535047857. 3
64535047858, 4

Question Number : 90 Question Id : 64635012162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4535047855. 1
64535047856, 2
64535047857, 3
64535047858, 4

Question Number : 91 Question Id : 64635012163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : The Indo-Gangetic plain is one of the denselv populated regions of
the world.

Reazon (R) : The Indo-Gangetic plain has fertile land and abundance of water.

Select the correct answer from options given below

1. Both({A)and (R) are true and (R) is the comrect explanation of (A)
2. Both(A)and (E) are true, but () is not the comrect explanation of (A)
3. (A)is true, but (R) is false
4. (A)is false, but (R) is true

Options:

E4535047859. 1

E4E35047860. 2

64535047861, 3
64535047862, 4

Question Number : 91 Question Id : 64635012163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
#1321 Fua Ry ) vE ) A (A) IR TR I aE (R) SR E

i a) ;- Rigdmaler s e rFamddd 3w
&% (R) . Ry & Bt v & are ot el R it a2
2 fem 7 fawedt & & ot o =1 999 =i

1. (A) 3R @) SH 961§ au(R), (A) & T8 s g

b

(A) 3R (R) EFT 98 & WG (R), (A) 1 981 e 781 &
3. (AT RGR) TR
4, (A)TTEE WRYR)THE

Options:
64535047359, 1



E4E35047860. 2
64535047861, 3
64535047862, 4

Question Number : 92 Question Id : 64635012164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Armrange the following States of India in increasing level of urbanization as per the
2011 Census data :

(a) Kerala
(b}  Punjab
(c) Goa

{(d) Mizoram
Options:
E4525047863. 1
E4525047864. 2
64535047865 3
64635047366, 4

Question Number : 92 Question Id : 64635012164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T 2011 B FAUA F HHiEE F HTER, YR F FRitiEa T 1 39F eiew F gd
T & TN Sated S ;

@ @
(b) deE
(c) ¥
(@) fogRm
Ft feu o feat o & ot owR =1 907 i -
L () (@), @0
. (), (d) (@) (&)
3. (c) () (a) (d)

4. (d) (e, (b) (a)

Options:

646350473863, 1
64535047864, 2
64535047865, =
64535047866, 4

Question Number : 93 Question Id : 64635012165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements is tme for a World city?
1. A World citv is absolutely devoid of anv financial institution

2. A World aty 15 culturally homogenous in nature

-
3

A World city is the headquarters of several multinational corporations

4. A World city is rarely the centre of new ideas and innovations
Options:
64635047867, 1
64535047868, 2
645350473869 2
435047570, 4

Question Number : 93 Question Id : 64635012165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fereht At wew & o Pl 48 oF-@ @ aw a8 &2

1. e o & o o1 fawfio dwn ferpo adt gt €

2. i mn vl IREhE FOd IeEa AW

3. Ay W o SfoRig Tl =1 S B &

4. Afys Tt o & 72 el it e S Sw am R
Options:
4025047567, 1
646350475608, 2

64535047869, 3
64535047870, 4

Question Number : 94 Question Id : 64635012166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is NOT matched comectly?

- E. E. Murphy : Urban Social Area Analvsis
s M. Jefferson : Primate Citv
3. G. Childe : Theory of Urban Origin
4, E. Shevky : Study of CBD
Options:

E4E35047871. 1
6435047872, 2
64535047873, 3
64535047874, 4

Question Number : 94 Question Id : 64635012166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Rraffe 4 @ o gt Tl &

1. . %, AHT : = Hrer ufen wfates

3. TH, SHeE ;. wgEe R

3. ofl. 9mges : Wil i s sfdfam

4. €, d - w=d e @ A
Options:

64535047871, 1
EAE3504787Z. 2
EAE35047873. 3
EAE35047874. 4

Question Number : 95 Question Id : 64635012167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

City [ has population of 200,000 and city II has population of 6,00,000. Theyv are
50 miles apart. Which of the following will be breaking point (BP) boundary marking
the outer edge of their respeetive wade areas according to Reilly’s Law of Betail
Gravitation?

1. 12-3 miles from citv I
2. 45 miles from eity I1
3. 283 miles from city [I

4. 183 miles from city I

Options:
E4E32E047875. 1

EAE35047876. 2
EAE35047877. 3
64535047878, 4

Question Number : 95 Question Id : 64635012167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR [ F1 2,00,000 §TEEN & HIT ¥R 11 F 6,00,000 F-5E 81 SHT W6 UH-gH 9 50
T @1 gl W oafem 81 e F e faaia @ fE few ifeee) & .
Foffemd s dgh e e & F el feam = wefils = anft 3
urge (@t dt) Hien gtz

1. WRIF125HaW
2. WRIld4sdmw
3. WERIl¥2s3dia™
4 WRIFs2zdOw

Options:

4635047575, 1
64535047876 2
64535047877, 2
64535047878, 4

Question Number : 96 Question Id : 64635012168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List=T List—II
(Wumber of Settlements (K-value)
of Different Orders of
Walter Chnstaller)
(a) 6, 42 294 iy EK=3
(b) 128 512, 2048 gy K=7
(e) 27,351, 4563 i) K=4
d 1,39 ivi K=13

Choose the comrect option from those given below :
L @v): )0 (-G (d)iii)
2 (a)(i), (b)), (e)-Gv); (d)-[)
3. (i ) (i) (d-iv)
4. @HiD; ®iv) -6 (d)-GD)

Options:

64535047579, 1
E4E350478380. 2
4535047881, =2
645350475582, 4

Question Number : 96 Question Id : 64635012168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tl =t eft-1n & it i

- -1l
(afeex frein & Rifim wm (K1)
& W] B HEm)

{a) 6,42 294 @ K=3

(b) 128,512, 2048 i@ K=7

(€) 27,351, 4563 Gi)y K=4

d 1,39 iv) K=13

e Ty el | 9 a9 9 @1 9g S

1. @) (eG); () (d)Gid)
2. () )i, (e)Hiv); (d-D
3. (@) GG (il (d-Gv)
4 () )GV () (d-Gi)

Options:

4635047379, 1
64535047880, 2
64535047881, =
64535047882, 4

Question Number : 97 Question Id : 64635012169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which ameng the following is an example of Quatemaries activities?
1. Construction
2. Sericulture
3. PRetail and wholesale trade

4. Manufacruring
Options:
64535047353 1
G4AE3E047884. 2
64535047885, 2
64535047886, 4

Question Number : 97 Question Id : 64635012169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prafafa & € o agfifs srdieed 51 Semm &7

1. P
2. wEHEUEE

3. e R Yie Ee
4. fafmio
Options:
E4635047883. 1
E4635047584. 2
E463504758E. 3
435047556, 4

Question Number : 98 Question Id : 64635012170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—TI with Lise—II :

List-1 List-11
(Petroleum Producing (Countries)
Centres)
(a) Alwand G Iraq
b} Agha Jari i) Egwpt
() Sinai Peninsula (i) Iran
(d) Minas (v) Indonesia

Choose the correct option from those given below
Lo (@), (e)-(id); (i), (d)-Gv)
2. (@) )G (©-0v); (i)
3. (i) ()G (eG) (dGv)
4. (aHiv) (i), (i), (dHD)

Options:
4535047887, 1
64535047888, 2

64535047889, 3



E4E35047830. 4

Question Number : 98 Question Id : 64635012170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i1 = -1 & getE i

-1 I
(@ S F9) &
(a) TS 0 e
®) o ar @)
(&) s afrgen (i) TH
(d) A (v) ¥SHfRm
feu m fedl | w8 I &1 994 it ;

1. (@) )-Gil); (i) (d)-Gv)
2. (aHii) G (c-0vk (i)
3. (i), (e (i) (div)
4 (@r0v); () ()G dH-D

Options:

64535047887, 1
64535047888, 2
645350478389, 2
48350478390, 4

Question Number : 99 Question Id : 64635012171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The proportion of area under various crops at a point of time is known as
L crop combination
2. cropping pattem
3.  crop concentration

4. crop diversification
Options:
E45250473391. 1
EA535047892. 2
645350473593 3
64535047394 4

Question Number : 99 Question Id : 64635012171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fersit Foram s # fafaw vl & sofa 67 & oo &) Fefofes 3 9 =0 9w & ot 82
1. wamgH
2. wEaUEA
3. SEaEEN
4,  wuafafadE

Options:

64535047591, 1
4835047892 2
4535047892 =2
64535047594, 4

Question Number : 100 Question Id : 64635012172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=I with List=II :

List—I List—II
(Swynonvms of Shifting (Regions)
Cultivation in India)
(2) Jhum (1) South-East Rajasthan
(b) Kumari (i) MNorth-East India
(c) Watra i)  Andhra Pradesh
(d) Podu (iv)  Western Ghats

Choose the commect option from those given below :
1. (aHi); ) (e)i); (d-iv)
2. @A) ©HIvY () (d)Hiil)
3. (aHd), ()i, (eHav); (d)HGD)
4. (@rivhk (G (o) (dy-0)
Options:
E4e25047 595, 1
CAEZE047896. 2
CAEZE047897. 2
C4E250478595. 4

Question Number : 100 Question 1d : 64635012172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 %t El-11 & Al Fife

-1 =11
(Ha HgE gty (9&)
&1 FEFND
(@) T G afEm-od aeRmE
() FEAE (i) IW-gduRE
(c) = i) W wEE
(d) g (iv) uiEedtare
fau m faredl & 3 WE) T = 901 it

L (@A) i), (e)-id); (d)H-Gv)
@) ®HAvE (-0 (di)

(%]

3. (@), ()G (e)-Gv); (d)-Gi)
4. (aHiv) ()G, (i) (d-0)
Options:
64535047555 1
E4635047896. 2
E4635047897. 3
E4635047598. 4

Question Number : 101 Question 1d : 64635012173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List=I with List=II :

List—I List-11
(Soil Categories as per (IWearest Equivalent)

US Dept. of

Agriculture)
{a) Antisols (i) Brown forest soil
(b) Inceptisols (ii) Chemozem
{c) Maollisols (iti)  Laterite
(d) Onasols av) Azonal soils

Choose the comrect option from those given below :
L (@) (b)) (o)), (dHiv)

(arav); (o)) ()G (d)iii)

(ai); (i) (cHiv); (d—)

4. @) GV -0 (d)-6i)

[

Lad

Options:

64835047399, 1
4535047300, 2
64535047201, 5
64535047302, 4

Question Number : 101 Question Id : 64635012173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



eI &1 Fefi-11 & g it

-1 -1

(s & iy (Frerew waim)
favm & sgaR
He1 w1 Aftrt)

(@)t @ TR

(b) sEfNTE () TEfH

(c) wreftars i) T

(d) =g (v) IR-meREgE

fen m fawedt & & ot o =1 99 Fif

L (@ ) (i) (d-{v)
{a(v); (b); (epii); (d)(ii)
()G (bGi); (e iv); (d)-({)

4. (@) ®av); (e (i)
Options:
E4E35047599. 1
64535047300, 2
64535047301, =
64535047302, 4

[

(¥

Question Number : 102 Question 1d : 64635012174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
D. Whittlessey divided the whole world inte how manyv tvpes of agricultural regions?

112
2 13
3 13
4, 1%
Options:

64535047303, 1
64535047304, 2
E4E3504 7305, 3
EAE3504 7306, 4

Question Number : 102 Question Id : 64635012174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
3. faededt 3 9o fay =51 5 von & o wit A favem femm?

IR
2 13
3. 15
4 1B
Options:

E4535047303. 1



E4E350473904. 2
64535047305, 3
64535047306, 4

Question Number : 103 Question 1d : 64635012175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List=II :

List—I List-1I1
{Subject) {Object)
{a) Apieculre (1) Fruits
b)  Olericulture (i) Grapevine
{c) Pomology ()  Kitchen herbs
(d) WViticulture {iv) Eee

Choose the correct option from those given below -
L (@M (bHi); (el (div)
2 () () (i) (d-iv)
3. (aHv) (i), (e)-@); (d)-Gi)
4 (arGu) (o)) (e)-0v); (d)-G)

Options:

E4E35047307. 1
64535047308, 2
64535047309, 5
64535047310, 4

Question Number : 103 Question Id : 64635012175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 =1 Ei-I1 & gt @i
- -1
(ferma) ()
(a) Uweax @ %
(b) sictfreeay (i) ST
(c) Gl (i) T
(d) R (v) TyHeEt
o Ty faeredi & 3 TEl IO S 904 $iaT

L (aHD: ) (e)id); (dr-iv)
2. (@), (o)), (e)=(i); (d)=(v)
(@-iv); ()i); () (d)Hi)
4 (@) @G @-iv) (d-0

Ll

Options:

64535047907, 1
64535047308, 2
64535047309, 2
4835047310, 4



Question Number : 104 Question Id : 64635012176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In D. M. Smith's theoretical model of the spatial margins to profitability, if cost is
constant, the space-revenue curve would be

1.  V-shaped
2. A-shaped
3.  S-shaped

4. recrangular
Options:
E48250473911. 1
EAE25047912 2
E45350479135 =
64535047914 4

Question Number : 104 Question 1d : 64635012176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AYET FRFR M FHEy i m Ry S st dead ok om Poa @ @

1. V-gm

2. AT

3. S

4.  TgyEeNr
Options:

64535047911, 1
64535047312 2
E4E35047913. 3
EAE35047914. 4

Question Number : 105 Question Id : 64635012177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to A. Pred, the location of an industry is closely associated with which
among the following approaches?

1.  Least cost approach

2. Profit maximising approach
3.  Ecological approach

4. Behavioural approach

Options:

64535047915, 1
64535047916, 2
64535047317, =
64535047315, 4



Question Number : 105 Question Id : 64635012177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T i1E % oER e 3R 71 snfRufy Prefafes 44 fre e A s sag &7
1. ARG &1 faid

2. M HiigiéerRs fagia

3. uifvRfawt faaia

4. WgeRRE fagia
Options:
64535047315 1
64535047316, 2
64535047317, 5
E4525047318. 4

Question Number : 106 Question Id : 64635012178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the fnlinu'ing prapnstd the Cl:li.'t-pl:l'.i.phtl'}' model of economic
development?

1 " REI STOW

2}, Friedman

3. Myrdal
4  Harschman
Options:

64535047919, 1
64535047320, 2
E4E35047921. 3
EAE35047922. 4

Question Number : 106 Question Id : 64635012178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FofafE 49 e nfts e & m-am i @R- 38 dize & sfvoes o ar

1 IEE

2. IS

3. fEwm

4. FREA
Options:

64535047919, 1
64535047320, 2
E4E35047921. 3
EAE35047922. 4

Question Number : 107 Question Id : 64635012179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following groups of countries is the participant member of South Asian
Association for Regional Cooperation (SAARC)?

1. 5n Lanka—Malaysia—Pakistan
2. India—Bhutan—Mauritius
3. Bangladesh—Mozambique—Maldives
4.  Afghanistan—Bhutan—DMaldives
Options:
E4535047323. 1
E4EB250479:24 2

EAE35047925. 3
EAE35047926. 4

Question Number : 107 Question Id : 64635012179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafiféa & & F19-9 p-T9E 916 S1 geri 93w 87
1. i —afese
2. MEG—MER—AEE
3. dRR—HEe—AE e
4, HFHEH—{EA—ATEE
Options:
64635047923 1
64635047924 2

64535047925, 3
64535047326, 4

Question Number : 108 Question Id : 64635012180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Functional region is delineated on the basis of which of the following characteristies?
1.  Transport intensity and commeodity flow intensity
2. Commodity flow intensity and river basin
3. Physical features and population characteristics

4. Agriculiural intensity and rainfall pattem

Options:

64835047927, 1
E4E35047328. 2
64535047929, 5
64535047330, 4

Question Number : 108 Question Id : 64635012180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



vEmatees g9 =1 frufor PrafefEs & & e ftimmefore qot & snur = fem o &2
1. uftEsd smf R A varE gl
2. W vars st e Ad At
3.0 itferes e s o sifimsm
4. G FERE T SR T aafy

Options:

64535047927, 1
64535047328, 2
64535047329 2
4835047920 4

Question Number : 109 Question Id : 64635012181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
From the given transport graph, calculate ‘Beta-Index” :

Select the correct answer from the options given below :

i 1:5
2. 30
3. 20
4 10
Options:

64535047921, 1
64535047932, 2
64535047932, 3
E4E35047924. 4

Question Number : 109 Question Id : 64635012181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



formifera oftaes-TmF @ dier-ddsw F1 ofieas Fife

<3 fa T el 49 w8 SR g
R
2. 30
3. 20
4. 10
Options:

E4535047921. 1
64535047932, 2
64535047933, 3
645350473934, 4

Question Number : 110 Question Id : 64635012182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per Edward Ullman's mode of transport swvstem, which one of the following
deseribes ‘complementarity’?

1. Demand and supply of a product between regions
2. Cost of movement of a product between regions
3. Availability of a product in a region

4. Non-availability ofa product in a region

Options:

64535047935, 1
64535047336, 2
4835047937 2
4535047328 4

Question Number : 110 Question Id : 64635012182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UsarE IURA ¥ ufvasd uoh F Al & ean Pnfafee 4 9 e samear @ e
S 27

1. wewt o fd Gems @t A SR o
2. Wl H I@E F Haee @ ana
3. Tt vew | Su S S
4. e vem oo B argaee

Options:



E4E35047935. 1
64535047936, 2
64535047937, 3
645350473928, 4

Question Number : 111 Question Id : 64635012183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Amange the following components of "qualitv of life’ used bv the Berlin Centre for
Future Research in decreasing weightage

(@) Physical
(b) Mental
(c) Material
(d) Spiritual
Select the correct answer from the aptions given below :
L (d),(g) @) (&)
2. (e) (d) (), (a)
3. () (a).d)i
4. (a) ), (), (d}

Options:

64535047939, 1
E4E35047340. 2
4535047341 =2
64535047942, 4

Question Number : 111 Question Id : 64635012183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

it Hex Wi R e g W oftes &1 o F FafaiEd gues! 1 HElE-am F
HTEN AT it :

(@) wrifvs

(®) wARE

(c) HiEm®

(d) snmarfdEe

Fta few o feedt & & w8 9w gfU:

L (d), (c) (@) (&)

2. (c) (d). (b (a)

3. (b)(a).(d)(c)

4. (a), (b), (e). (d)

Options:

64835047939, 1
64535047940, 2
64535047941, 5



EAE35047942. 4

Question Number : 112 Question Id : 64635012184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=I with List=II :

List=1 List=II
(Language Family) (Specific Language)
(a) Dravidian (i) Banjari
(b) Indo-European (1) Santhali
() Austric {iiiy Bedo
(d) Tibeto-Burman (ivy)  Yerukala

Select the correct answer from the options given below :

Lo (aHiv); (B (e)); (d)i)
2. (@) (o)) (e)i); (d)G)
3 (ay(u); (o)) (cr(v); (-0
4. (aHG); ), (HI): (d)-iv)

Options:

E4E35047943. 1

E4E35047944. 2

64535047945, 3
64535047346, 4

Question Number : 112 Question 1d : 64635012184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hi-1 &1 gefi-11 § gafta Sifg -
-1 11
(MTH1-7E) (fafrg )

(@) =S @ d@w
(b) SSI-gEE () ureh
(¢ o= Gii) @S
(d) feidads (v) T

farm 7o fasedt & @ ot o =1 9o et

Lo (arivy (b)) (i) (d)ii)
. () (e)av); (e)(i); (d)(i)
3. (api); (o)in; (e)-Gv); (d)-6)
4 (a), (b)) (i) (d)Hiv)

Options:

4535047943, 1
64535047944, 2
64535047945 o
64535047346, 4

Question Number : 113 Question Id : 64635012185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following features hinders the social process of assimilation?

1.  The stages of development of society
2. Social activities
3.  Intimate social contacts
4 Amalgamarion
Options:
64535047347, 1
E4525047348. 2

E4E35047949. 3
64535047350, 4

Question Number : 113 Question 1d : 64635012185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafifas 8 @ 19-91 50 NS 3 Sfes Wi # JaEg Sed 8Y

1.  waw & M & v
2. e At

3. OfHE Sl H@us
4 HHTH

Options:

645350473947, 1
E4E35047348. 2
64535047949, 5
64535047350, 4

Question Number : 114 Question Id : 64635012186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is NOT matched comectly?

1 Proto-Australoids Bhutias

2 WNordics z Rajputs

3 Mongoloids : Ehasis

4 Wegritoes : Khaddars

Options:

64635047951, 1
64535047352 2
64535047353 2
4835047954 4

Question Number : 114 Question 1d : 64635012186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fofafes 8 4 ==-w gifte adi &7

1. Hel-Sfeaias : e

2. EliE=c3 S E PGl

; A S 5

4. et : H|ET
Options:

64535047951, 1
64535047352, 2
E4E3504 7953, 3
EAE35047954. 4

Question Number : 115 Question Id : 64635012187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Drewnowski’s coneeptual framewaork of the need satisfaction eurve, the lowest level
of living indicates which state of well-being?

1. Insufficiency

2. Affluence

3. Sufficiency

4 Destitution
Options:
64535047955, 1
646535047356, 2

64535047357, 3
E4E35047958. 4

Question Number : 115 Question Id : 64635012187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hrreged O STl & G| & SeednTd® grd § §ae- AT 1 GHad W S @l

frg s =1 frefig s &7
1. oo
2. ®@
3. wia
L SHEG)
Options:

64535047955, 1
E4E35047956. 2
E4E35047957. 3
64535047358, 4

Question Number : 116 Question Id : 64635012188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The philosophy of positivism DOES NOT believe in
1. Speculation

2. Objectivity

3. Fact
4 Truth
Options:

645350473959, 1
64535047360, 2
E4E350473961. 3
EAE350473962. 4

Question Number : 116 Question Id : 64635012188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Siffelag = gx= ot 4 4 et fym s &7

1. ¥FAA

2, oW

3 g

4. W4
Options:

E4535047959. 1
64535047360, 2
64535047361, 3
64535047362, 4

Question Number : 117 Question Id : 64635012189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following facters DOES NOT promote the formation of Federal
State?

1. Vastarea

2.  Homogenous population

3. Dddshape

4. Presence of several core areas

Options:

64535047963, 1
E4E35047364. 2
4535047365 =2
4535047966, 4

Question Number : 117 Question Id : 64635012189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4de350479683. 1
4535047964, 2

E4E35047965. 3
EAE35047966. 4

Question Number : 118 Question Id : 64635012190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following Regional Organizations of Cooperation is the largest in
terms of number of member countries?

1. OPEC

2. SAARC

3. ASEAN

4 EU
Options:

EAE350473967. 1
E4E350473968. 2
645350473645, 3
645350473970, 4

Question Number : 118 Question 1d : 64635012190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fafefan 4 3 #1991 o= d&ftn edi de Sew aul St dEn s Al dweR Am i

1. s

2. W

3. o

4. e
Options:

64535047367, 1
64535047368, 2
64535047369, 3
64535047370, 4

Question Number : 119 Question Id : 64635012191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which continent has the maximum number of member countries of OPEC?

1. Asia

2. South America

3. Africa
4. Europe
Options:

64535047971, 1
64535047972 2
64535047973, 3
EAE35047974, 4

Question Number : 119 Question Id : 64635012191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
for werew # Siw F 9w ou = afteon dEm &7

1. ufwn

2. ofam e

3. aBte

4, T
Options:

B4E35047971. 1
64535047972 2
64535047973, 3
645350473974, 4

Question Number : 120 Question Id : 64635012192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is less important determinant for the electoral behavior in
India?

1. Caste

2.  Education of a candidate
3. FReligion and language
4. Money power

Options:

64635047975, 1
645350479376, 2
64535047377, 2
E4E35047978. 4

Question Number : 120 Question Id : 64635012192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. wfa

2. Iwican i

3. uH Ry

4. wEiea
Options:

64535047975, 1
EAE35047976. 2
EAE35047977. 3
64535047978, 4

Question Number : 121 Question Id : 64635012193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following provided a philosophical foundation for Geography as a field
of scientific enterprise?

1.  Bembhardus Varenius
2. Nicolaus Copemicus
3. Immanue] Kant
4. Kepler
Options:
64635047373 1
64535047380 2

E4E35047981. 3
EAE35047982. 4

Question Number : 121 Question Id : 64635012193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frofefan # 4 few dnte sdds & wo i 1y & g ue grffe snum wem fem

1. EFpEa T
2. FermeRtE
3 g EE
4  HWR

Options:

645350479739, 1
E4E35047980. 2
E4E35047981. 3
64535047382, 4

Question Number : 122 Question Id : 64635012194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who among the following Arab geographers is most widely ravelled and wrote down
his travel account for postenty?

1. Ibn-Batuta

2. Ibn-Khaldun

3.  Ibn-Hakul
4 Al-Masudi
Options:

64535047953, 1
64535047354, 2
E4E3504 7985, 3
EAE35047986. 4

Question Number : 122 Question Id : 64635012194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frufafad 4 @ e s yiedm 3 Taifas @me w9 3 aEh @1 SR e degt s

férg aroen argara fevan wi?
1. E@-aqal
2. TE-Eegd
3 IE-EEd
4. HA-HgE
Options:

E4E35047953. 1
64535047984, 2
645350473955, 3
64535047356, 4

Question Number : 123 Question Id : 64635012195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following pairs is NOT matched correctly?

;4 Julian Walpern : Behavioural approach

2: Aristotle : Inductive approach

3. Fatzel H Man-land approach

4. David Smith F Marxist perspective
Options:

64535047387, 1
64535047388, 2
E4E35047989. 3
E4E35047930. 4

Question Number : 123 Question Id : 64635012195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535047987, 1
64535047388, 2
64535047389, =
4835047990 4

Question Number : 124 Question 1d : 64635012196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whose work provides the concept of image to geographical studies?
1. Gilbert White

2. Julian Wolpert

-

3.  Kenneth Boulding
4. Peter Gould
Options:
E4525047331. 1
E4E25047992 2
645350479593 2
646350479594 4

Question Number : 124 Question 1d : 64635012196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ferme drmem Vit siam= S1 o S SR gRu 44T 27

1. freed e

2. wferae ateae

3. Fhydfegn

4 d=TE
Options:

645350479391, 1
EAE35047992. 2
E4E35047993. 3
64535047954, 4

Question Number : 125 Question 1d : 64635012197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List—II :

List—I List-TI
(Proponent) (Philosophwv)
(a) Schaefer i Gainism
(b} James Livelock (ii) Setructuralism
() O H.K. Spate (i)  Exceptionalism
(d) Gidden av) Probabilism

Select the correct answer from the options given below :
L @) ()=G); (=G (d-Gv)
2. (@) ()G (v (d)(Gid)
300 (aHv) (o)D) (i) (d)ii)
4. (@G GXGvY (-G (d)-0)

Options:

64535047995, 1
64535047396, 2
4835047997 2
4535047398, 4

Question Number : 125 Question Id : 64635012197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a1 St -1 | gAfea Sy
Tei-1 A1
(wfedTEes) @)
() =T @  fiemye fasta
(b) urE RmEeie (i) EEEAEE
(c) #.ua.& wWe (i) HEGHOS g
(@) firz=a {iv) Wit
fe mu faereal & | W81 I9R &1 99 Fife

Lo (aHi): (b)) () (dHiv)
2. (@i (G; (c)v); (d)-(Gil)
3. @) )Gk (o)) (d)-i)
4 (aHi); ()Hiv) (i) (d-0)

Options:

64535047995, 1
4835047396, 2
64535047997, 5
64535047998, 4

Question Number : 126 Question Id : 64635012198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following books was NOT written by Al-Masudi?

1. Kitab-Muraj-al-Dhahab
2. Kitab-Akhbar-al-Zaman
3. Al-Qanun-al-Masudi
4. Kitab-al-Ausat

Options:

645350479595, 1

64535045000, 2

64535045001, 3
E4E3504800Z. 4

Question Number : 126 Question Id : 64635012198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a-srget 3 Prafefae # @ S oo ol fodh ot

1. TedE-gEa-se-gEE
P - B B
3. HE-STA-HE-Hgal
4. from-am-afem
Options:
4025047999, 1
646235048000 2

64535048001, 3
64535045002, 4

Question Number : 127 Question 1d : 64635012199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who amongst the following was a Foman geographer?
1. Hippocrates
2.  Hecataeus

3. Stabo

4, Posidonius
Options:
C4EZE045002 1
C4E35045004. 2
C4E3E045005. 2
CAEZE048006. 4

Question Number : 127 Question Id : 64635012199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prafifae # @ 219 do pireds 47

1. fudw

2. BFEw

3. =4

4. OfEios
Options:

E4535048003. 1
E4E35048004. 2
64535048005, 3
64535045006, 4

Question Number : 128 Question 1d : 64635012200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
March List-T with List—II :

List-I List-II

(Scholars) (Books)
(a) Rirter [N} On Air, Water, Places
(b) Prolemv (ii) Geographia
() Strabo (i) Almagast
(d) Hippocrates iv)  Erdkunde

Select the comrect answer from the options given below :
Lo (i) ()G (0v): ()il
2. (ar(v); (b)), (e)i); (d)-()
3. (ara) ()-); (e (d-Gv)
4 (ariv) (o)) (o)) (d)HiD)

Options:

64535048007, 1
64535048008, 2
64535048009, =
4835043010 4

Question Number : 128 Question Id : 64635012200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (i) ) (e-Gv); (d)(i)

]
H

(a-v); (i) ()i (dHE)
3. (@) M) ()-Gil); (d-0v)

4. (@Hiv): (A (eHi); (d)(iid)
Options:
E4E635048007. 1
£4E6325048008. 2
E4E635048009. 2
E4E8325048010. 4

Question Number : 129 Question 1d : 64635012201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements. One is labelled as Assertion (A) and the other is

labelled as Reason (R) :
Assertion (A) @ Rimer was a teleologist and had a strong belief in God.
Reason (R) :  Ritter had a vision of ordered and harmonious universe.
Select the correct answer from options given below :
1. Both(A) and (R) are rue, but (B} is not the correct explanation of (A)
2. Both(A) and (R) are true and (R) is the cormrect explanation of (A)
3. (A)is true, but (R) is false
4, (R)is true, but (A) is false

Options:

64535048011, 1
64535048012, 2
648350480132 =2
45350432014, 4

Question Number : 129 Question Id : 64635012201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. (R)THE WY A)WEE

Options:

64635043011, 1
4835042012 2
45350480132 2
64535048014, 4

Question Number : 130 Question Id : 64635012202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Whe amongst the following geagraphers was pioneer of branching Geagraphy into twe,
general or universal and special or particular?

1. Richthofen

2. Varenius

3.  Ritter
4. Humboldt
Options:

645350438015, 1
E4E35048016. 2
E4E35048017. 3
645350480158, 4

Question Number : 130 Question Id : 64635012202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FrofaiEe 48 $19-3 ik Wi & S sua ardiie au Ry s e S s

# fmme & wferes 42
1. ferea
2. Hfws
3. e
4 e
Options:

645350438015, 1
E4E35048016. 2
E4E35048017. 3



EAE35048015. 4

Question Number : 131 Question Id : 64635012203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The graph used to show the proportion of surface area representing elevation abowve or
below datum is

1. Altimetric curve

2. Fluviometric curve
3. Morphometnc curve
4.  Hypsometnc curve

Options:

64535048019, 1
64535048020, 2
64535043021, 2
E4E35042022. 4

Question Number : 131 Question Id : 64635012203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F W a1 341 JH F1 FreTia S 91 Has 89 H{OE 1 SR A 0 & $u

e
1. icenfes am
2. WS 9%
3. dAiGHSE 5
4. Pt o
Options:

E4E350480143. 1
E4E35048020. 2
64535048021, 3
64535045022, 4

Question Number : 132 Question 1d : 64635012204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Chi square test’ measures which of the following?
1. Mean deviation
2. Goodness of fit
3. Trend
4 Wariation

Options:

64535048023, 1
64535048024, 2
64535048025, =
4835043026, 4



Question Number : 132 Question Id : 64635012204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘w7 Tl T | Prafufae 4 4 feustt Ao & ot 2

1. e e

2. s e fise

i wfw

4. i
Options:

64535048023, 1
64535045024, 2
E4E35048025. 3
EAE35048026. 4

Question Number : 133 Question Id : 64635012205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements are true?

(a) The correlation coefficient is dependent on the cheoice of both origin and
scale observations.

() The comelation coefficient is dependent on the units of measurements.

(c) The coefficient of correlation is the square root of the coefficient of
determination.

(d) The zero value of comelation coefficient cannot estimate the value of
dependent variable.

Code:

1. (a) and (b) are true

2. (a), (b) and (c) are true
3. (c) and (d) are true
4. Only (d) is true

Options:

4835043027, 1
4535048028, 2
64535048029, o
64535048030, 4

Question Number : 133 Question Id : 64635012205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4635048027, 1
64635048028, 2

64535045029, 3
E4E35048020. 4

Question Number : 134 Question Id : 64635012206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following dara fonmats in GIS iz compatible with satellite images?
1. CAD data format
2. DLG data format
3. Vector data format

4. Raster data formar
Options:
E4525043021. 1
E4A535048032. 2
64535048033 3
64535043034 4

Question Number : 134 Question Id : 64635012206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i, amg. v, # FofafEa 4 4 £9-w e arey (i) Iure 9 we o=}l & ¥ g

44
1. CAD &3 4=g
2. DLG fiwgl ey
3. et Hiesl HEY
4. TR EE HEY
Options:

64535048021, 1
645350458032, 2



EAE35048033. 3
54535048024, 4

Question Number : 135 Question Id : 64635012207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The following temperature data were recorded at Station A :

Range of Temperature {°C) MNo. of Davs
10-20 6
20-30 20
3040 5

Which of the fallowing eptions exhibiting mean menthly temperature is correct?

] 30
2y 25
3. 20
4. 15

Options:

64535048035, 1
64535048036, 2
4835048027, 2
45350480328, 4

Question Number : 135 Question Id : 64635012207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
& A W areHE Sed oty ofes g ey g

ATTHE-TRTH (5C) fe=t &1 dam
10-20 6
20-30 20
3040 5

Frofafas 4 3 =9-a s ow ofts aoe = of-of Refm s 27

1. 30
2. 25
3 20
4 15
Options:

64535048035, 1
645350458036, 2
EAEZ5048037. 3
E4E35048028. 4

Question Number : 136 Question Id : 64635012208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following elements of image interpretation is most appropriate for
identifving alluvial fans and meanders on any aerial photograph?

1. Sjze
2. Shape
3. Tone

4.  Texture
Options:
645350430359 1
64535043040 2
64835043041 =
E4AB35043042. 4

Question Number : 136 Question Id : 64635012208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferslt +ff arn T F Sy onig tEf aR fedl S ER s Afm A 5
Frofafas § @ #19-w 7@ vaifus Iuges g &2

1. =X

2 o

3. @H

4. oA
Options:

64535048039, 1
64535043040, 2
E4E35048041. 3
EAE35045804%, 4

Question Number : 137 Question Id : 64635012209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ideal time of the day te obtain areal photograph is

1. When the sun is low ablique (before and after noon)
2. When the sun is high oblique (moming and evening)
3. When the sun is almost vertical {at noon)

4. Anv time of the day

Options:

64535048043, 1
4835043044, 2
4535048045 =2
64535045046, 4

Question Number : 137 Question Id : 64635012209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. wEg # Rl o= frds gae o) @
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4. REFfERdiam
Options:
C4E25045042 1
C4E25045044 2

64535045045, 3
E4E3504804E, 4

Question Number : 138 Question Id : 64635012210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is a mathematical curve that shows a visual extent of departure
for any given distribution?
1.  Logistic curve
2. Less than ogive curve

3. Greater than ogive curve

4. Lorenz curve

Options:

4835043047, 1
4535048048, 2
64535045049, 5
64535048050, 4

Question Number : 138 Question Id : 64635012210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Foftfae # & - U nitda 7 & o B By m e 2y e <t o dm =t

gt &7
1. wfafesad
2. W sfa e
3. XA ifrawd
4. TEsd
Options:

64535048047, 1
645350450458, 2
64535045049, 3
E4E35048050. 4

Question Number : 139 Question Id : 64635012211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—T with List—II :

List—I List—II
(Resource) Region)
(a) Ironm ore (i) Panna district
b} Diamond (i)  Jhana
{e) Coal (iii) Bababudan Hills
(d) Geothermal energy ({iv) Puga Vallev

Select the correct answer from the options given below :
L (aHiv) )G (-G (d)-Gil)
. (@) (e (e)-Gv); (d-(i)
3.0 (aHi); (o) (e-v); (d-@)
4. (a)Aiii); (b)) (i) (d)iv)

Options:

648350438051, 1
4535048052, 2
4535045052, 5
64535048054, 4

Question Number : 139 Question Id : 64635012211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hefi-1 1 gefi-11 & g iR
-1 -1
(FE) &N
(a) @I @ o= e
(b) &N Gi) W
(c) e (i) @mEEEE
(d) e it Gv)
fam o faera A & wE IO =1 904 S0

Lo (@) (G () (d)=(ui)
2. (@) (i) (c-0v) (d)-mw
3.0 () G (v (d-o)
4 (), (o) (i) (d)Hv)

Options:

64535048051, 1
64835048052 2
4535048052 2
64535045054, 4

Question Number : 140 Question Id : 64635012212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select from the options given below, comrect sequence in increasing order of
agriculrural intensity among the various States in India :

1 Maharashtra — Assam — Bihar = Uttar Pradesh
2. Uttar Pradesh — Bihar — Assam — Maharashtra
3. Assam — Bihar — Uttar Pradesh — Maharashera

4. Bihar — Assam — Maharashira — Uttar Pradesh
Options:
64635043055 1
64535048056, 2
E4E25043057. 3
E4E25043058. 4

Question Number : 140 Question Id : 64635012212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e & fafim ot § St e & w98 o w0 & e # H ey et d @ ad
ey @1 909 Sifan

1. TENIE — 499 - fEn - Swwem
2. TWHWY - R - owm - mEp
3. HEH - FER - TWWEE - "Ry
4. R - %W - WENIP — IEHH

Options:

64635048055, 1

64635048056, 2

645350458057, 3
E4E35048058. 4

Question Number : 141 Question Id : 64635012213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following rivers divides Imndian peninsula inte ‘Malwa’ and Deccan

Platean?
1. Godavan
2. Mahanadi

3.  Namada

4. Mahi
Options:
64535043059, 1
64G35042060. 2
E4AE35048081. =
64535048062, 4

Question Number : 141 Question Id : 64635012213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFroffae 44 F9-0 78 ywa & varlt vim &1 A 3 gee & e | fnafera st

87
1. Tierd
2. WA
CRI
4. =
Options:

645350438059, 1
64535048080, 2
E4E35048061. 3
EAE35048062. 4

Question Number : 142 Question Id : 64635012214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the following Himalavan ranges in the State of Jammu and Kashmir in
descending order in terms of average altitude from sea level :

1.  Zanskar, Pir Panjal, Ladakh, Karakoram
2. Karakoram, Ladakh, Zanskar, Pir Panjal
3.  Pir Panjal, Karakoram, Ladakh, Zanskar

4. Ladakh, Karakoram, Pir Panjal, Zanskar

Options:

4835048063, 1
45350480684, 2
64535048065, o
4535048066, 4

Question Number : 142 Question Id : 64635012214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o R Fwit & Fo fe-dE S T T @ i $ed & e # st wu o

e
1. S U Oee, T, SUERA
2.  FHUEE, TR, A, 9N O
3. OR U9 SUERA TR, di
4. ErE T, 9T T, Jie
Options:

645350480682 1
E4E35048064, 2
E4E35048065. 3
EAE535048066. 4

Question Number : 143 Question Id : 64635012215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II -

List—I List-II
{Local Weather Condition) {States)
(a) Mango shower (i) Kerala
(b) Blossom shower (i)  West Bengal
() Norwester (i) Kamataka
(d) Loo (iv)  Uttar Pradesh

Select the correct answer from the options given below :
L (ay)y G (-Gii); (d-Gv)
20 (G G () (d-Gv)
3.0 (a)(v); ()it (e)-() (d)-Gi)
4 (@) b)) () (dr-iv)
Options:
E4635048067. 1
64535048068, 2

E4E35048063. 3
G4E35048070. 4

Question Number : 143 Question Id : 64635012215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 %1 g1 & ARm S -

-1 -1
(Rt Fre Rt (XT=)
(2) it EiaR @) &
(b) =AW (i) oftm @
(c) Az (i) FACH
d T Giv) ST
fem g gt & | w8 o =1 993 Sife -

L (@) e)i) (e)-Gii); (d-Gv)

2. (a)Hii); ) () (d-iv)

(@Hav) ()G (-G); (d-w)

Ll

4. ()i (=a) (Gi); (d-Gv)
Options:
645350438067, 1
64G35048068. 2
E4E350480649. 2
64535048070, 4

Question Number : 144 Question Id : 64635012216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tdentify the river of India which has the following characteristics :
{a) Itoriginates from the Amarkantak plateau,
(k) Itisa tobutary of Ganga nver.
{c) During summer months, it has little water.

1. Marmada

b

Son
3.  Famganga

4. Kosi
Options:
45350438071, 1
E4E25048072. 2
E4E25048073 3
64535045074 4

Question Number : 144 Question Id : 64635012216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HITE B 39 7 Bt apaitre e fdat Prafafae ¥

(a) TUF IFHHRHF F SR SR
(b) TE T H WIS T B
(¢) WiAH s wemH@E IR 2

1. e

2. W=

3. T

4. =
Options:

E4535048071. 1
6435048072, 2
64535048073, 3
64535045074, 4

Question Number : 145 Question Id : 64635012217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Select among the following groups of States of India in descending order having high
concentration of population distribution according to Census 2011 data :
1. Uttar Pradesh, Maharashrra, Bihar, West Bengal
2 Uttar Pradesh, Bihar, West Bengal Tamil Nadu
3. Uttar Pradesh, West Bengal Maharashira, Bihar

4.  Uttar Pradesh Tamil Nadu, Bihar, West Bengal



Options:

64535048075, 1
E4E35048076. 2
E4E35048077. 2
64535048073, 4

Question Number : 145 Question Id : 64635012217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 2011 1 FA0AT F AEE H YR T W & FuiEe oot 1 og 7 ol e F
fEem & SER A6 0 H SaTEl

1. I weHE, Henp. fagr, uidm wmma
2. I ueH, HER uidw e, afieErg
3. I weE, ufim e, mey, fiEn
4. I, AT, EER, ufim Ema

Options:

64535043075, 1
E4E35048076. 2
64535048077, 5
64535048078, 4

Question Number : 146 Question Id : 64635012218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the fnilcm'ing statements given below :

{a) The 2011 census shows marginal increase in population growth rate since
2001 in India

(b) The absolute increase in urban population exceeded the absolute increase in
rural population in India

(c) The sex ratio has decreasedin 2011 census from 2001.

(d) The literacy rate has improved in 2011 census since 2001.
Select the correct answer from the given options !

1. (a) and (c) are tue

2. (a) and (d) are true

3. (a), (e) and (d) are true

4 (b) and (d) are true

Options:

64535048079, 1
64535048080, 2
64535048081, =
4835048082 4

Question Number : 146 Question 1d : 64635012218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= fau mu st F1 ofgu

(a) gém'l it wTE H yRa # o 2001 & oeden #t 3R o o s e
I

(b) MaH W maTel # fAvay aEiad ot srardt | g Al el sgad |
it g1 e

() = 2001 T 38 2011 7 SR H R s H = amd B

(d) @& 2001 St 3881 2011 B TTOHT H WA E1 H U gan 21
et feu g faeseat A & w8t 9we gfu:

L @M TE

2. @Im@EE

3 @) ©MM@OTEE

4. () SR(@THE
Options:
64535048079, 1
4835048080, 2
4535048081, 2
645350450382, 4

Question Number : 147 Question Id : 64635012219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the Indian pert which is known as the best natural harbour and has the leading
cargo traffic importing petroleum, fertilizer, chemicals and machinery, etc. :
1. Kolkata

2. Chennai

3.  New Turticorin

4. Vishakhapatnam
Options:
CAEZE04E083. 1
C4E2E045084. 2

64535048085, 3
64535045056, 4

Question Number : 147 Question 1d : 64635012219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T WIRET T 1 UEETE SiTo o Saih e Wipfae SSwE Hu @Al & AR wel wgiits,
v, TETTE AR AR anfe % emara | sl Sl efthe &

1. HEEmm

2. AW

3. godsie
4. FemaaTs

Options:



E4E35048083. 1
64535048084, 2
64535048085, 3
64535045056, 4

Question Number : 148 Question Id : 64635012220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as Reason (B):

Assertion (A) : Panchavati Raj Institutions have 3-tier svstems in planning and
executing development projects within their jurisdictions.

Reasan (R) : Panchavati Raj Aet empowered local bodies participation in
planning process.

Select the correct answer from aptions given below :
1 (A)is true, bue (B) is false
2 {A)is false, but (R)is true
3. Both({A)and (R) are true and (R) is the comect explanation of (A)

4. Both{A) and (R) are true, but (B} is not the comrect explanation of (A)
Options:
64635043087 1
4535045088, 2
E4E25043055. 3
E4E25043080 4

Question Number : 148 Question Id : 64635012220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
He gt vvn Ry U ) =t sifimyE (A) SR gE Sl as (R) SET T &

i (A) - daradt oo swnst J R oot &t deen st et @A
=g wunel 2 W St siuwt & Hiaw 2kt 21

@ (B) - vargdt T sfaam ¥ gen e 2t aiea § aurfln Reat St
yrfterdt %1 wifed weE &1 T2

e feg o féeeal § | 9 9w &1 90 Sife
L @t g mEe
2. Tt fErge) e
3. (A) IR (R) I WE SR (R), (A) o wE amEm g
4. (A) IR R) T W E Fg R), (4) 198 ren TR

Options:

64535048087, 1
645350430388, 2
4835042089 2
4535045090, 4



Question Number : 149 Question Id : 64635012221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :

List=] List=II
{Water Falls) (Name of
the River)
(a) Jog Prapat (i) Cauvery
(b) Dudh Sagar )  Machkund
(c) Shiva Samudram (i) Mandon
{d) Duduma {iv)  Sharavati

Select the correct answer from the options given below :
L () ()=iv); (c)Gi); (d)-(ii)
2. (aH; (o)), (e-Gv); (d)-Gi)
3. (a)y-Gv); (b)-Gi); ()G (d)-G)

4. (@rGiD; bD); (O-Gv); (d)-Gi)
Options:

64535043091, 1

64535043092, 2

64535048093, 2

64535043034, 4

Question Number : 149 Question Id : 64635012221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 Bt gEi-11 3 gfta Fifeg -
-1 T
(ERERIDY (T 1 )
() wmyE G FE
(b) FUE (i) wEgE
(c) Fmags Gi) wER
(d) A (v) EREE
feu T fawedl § 9 98 9w 99H S ;

Lo @ik (b)Hiv): (e (d)ii)
2. (a)Hi); (b (e)(ivy, (d)i)
3. (ar(vy () (e-G) (d)-Gi)
4. (ayr(u); (b0); (cr-iv); (d)-u)

Options:

E4EZE0458051. 1

E4EZSE048052 2

E4E5250480835. 3
E4E25045054, 4



Question Number : 150 Question Id : 64635012222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following statements given below :

(a) The Bhangar soils are clder Alluvium.

(b} The Bhangar soils are frequently inundated.

(¢) The Bhangar soils are rich in concentration and nodules.

(d) The drier areas of Bhangar soils exhibit saline and alkaline efflorescence.
Select the correct option :

1. {(a) and (b) are true

2 (a) and (d) are tue

3. (a), (c) and (d) are true

4. (a), (b)and (d)are true

Options:

4535043095, 1
64535048096, 2
64535048097, =
64535043098, 4

Question Number : 150 Question 1d : 64635012222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e fau o wvET 1 Uiy
(@) Mg e o et €
(b) HITRFETY AR-AR WerH B gl
(c) wie T # winm o Sftat oga afts v d gt 8

(d) IR HET & sriamea e e & | arli ok oaviia goea weitla

GG
:ﬁﬂfﬂﬁqaﬁt‘:
1. (a) S (b) THI &

2. @IWOHTHRE
3. (a), (o) SR (d)wH &

4 (2, )M () TEE

Options:
64535045085, 1
645350450596, 2



EAE35048087. 3
545350480355, 4



